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� ��+%�%� � !�+����*�  � -%����.� � �%"�-%���& /� ��� +�"�����*� ���

���������������� ���9��,��!��.%� �!���*�+�+.���*�$�#�%���-��-%��� +�� 7%��*����

��� � � 5���� ��� �%� � 5���� � +�*�'� ��� /�� $�$�%-�� ��1%�%�& 5���� � +�*�'��-%��� +�

.�$%�'��8��  ��%8�#+���*�� �,��"$�-�& /� ���  ��%�,��*& /� 1#�"& 5�� ,�7#"#�

%"$��%-#- +
���"�0�+�"���%� ��$��+��,��8��-#+���*�#�,�"%� �Matlab��!����,�-�8�6�
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� �'� �������� ��+.���$*� ��.�$�6+���� $#-#�� �i!��&6� ��� $"��*���5� ���#��"�

-����&'�� ����$,��6+���� /�� ��� +�!��.���� ���-��� $� ��� ���8� -����&'�� ��+.���$*�

��.�$�6+����-����&6��,�����%0�#�!���� 5����+�����+#+����+�!��.��"��-����&'�!��

��,�-�8�6��	�
 

�
���%��%��.���+i��-�$�i 

�� %�%"����%��i.���� ��!���#�"��� .�$��� +�"���$��+#6�'� -����&i i� +%"�����

�+%"����-���!�+�6�'�-����&6-�*��"�����-����&6-$��+,%&'�
���$�$�%- �Matlab (ML) 

�%�� !�+���� �+�� ��,�� �� 1-%��.���� �,%��& 5�� ,�%�%-%��� � ���-����.� 
������.� �

�,%��& /�+�"��#6�'$*�#�+ �,�+ ���$� �!�,��+���-��� � 5��/���8%���
���*���8���9���/��

��!� !������,�%�%-%����-�+ �,�+ ��;�"��,"��,%�%��$�-+���-��,%��& /
���,��"�����

“.*” –�,�%�%-%���%�-��0%��*���
^” –�,�%�%-%���%�, ��%$%��*�#�$�#, �'
 

�
�
���#-������i!��&*��+���-����&' 

�#-�6������ !��&%6��+���-����&'�����"�+�����!-i�i+��� = � ± 
 ;�-����&*�

��"�8�� 0� ��!-i�#�� %�%-%���� *"�/� ���i+�66�'� $#-�-� ���� � !��&*-� +i�,�+i�����

%�%-%��i+�-����&'�� i  
:  

�i,j = ai,j ± bi,j ;(i=1,2,…,m; j=1,2,…,n). (1.1) 

��*�&���� 5�,�%�%-%��� ����-����.� ��,%��& /�$, +,���6�'
 

�
�
�����#��"�-����&'�i�,i��%$%��*�/��#�$�#,i�' 

���#�"�-�-����&i ����!-i��-�m*k����-����&6�
���!-i��-�k*n ;�-����&*�� 

��!-i��-�m*n��%�%-%����*"�/�+�����+#6�'$*�!��1��-#��6� 

OM

N

O
LONMLNMLMLLM ��������� ⋅=⋅++⋅+⋅= ∑

=�
���� ���� . (1.2) 

�i�-i��-���9��-����&*��=�*
�+�!��.%����i�'"�����i��"����.�$���$��+,&i+�

-����&i �����i+�6;�.�$�#��*�"i+�-����&i 
. 
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��*� ���#�"#� -����&'�� #� !�8��'��-#� +�,��"#�� �%$,��+%���+�5� ,%�%-i$-

���'��5�!�"�����������*
≠ 
*�. 

��$�"�+�-�+�,��"�-�,�-��0%��*�-����&'�;�-��0%��*�-����&i A����!-i��-�

m*k,����+%"���-$��+,%&'�
��$"���%��5�i! k�%�%-%��i+�����+%"���-�*�"�����$"���%���8��

i!�k�%�%-%��i+�����-����&6�
���!-i��-�k*n . 

��,%�7�-#�+�,��"#��%!#�'����-��#�%�+%"���-$��+,%&'�!�%�%-%���-��  

M���������
N

M
LMNLNLLL ⋅=⋅++⋅+⋅= ∑

=�
���� ��� , (1.3) 

(i= 1, 2, ... , m),���+���#8�-#�+�,��"#�-�+%"���-�*��"�!�%�%-%���-�� 

LM

N

L
LNMNMMM ��������� ⋅=⋅++⋅+⋅= ∑

=�
���� ��� . (1.4) 

��+��,�+i���$�i�!�,��*��*-�,������#��"�-����&'��#�&i�#������"�+#�$�#,��'�k 

-�0���!+%$������'"��"+������#�-����&6� 

Αk = ((ΑΑ∗ΑΑ)∗ΑΑ)∗…∗ΑΑ). (1.5) 

k�$,i+-��0��"i+ 

�*��,%��& *�#�ML !����0#;�'$*�$�-+���-��^”.  


� -���8���#�ML�,%�%���.%� ��,%��& /�,��+�$������'�8������ +�$��-����'�8��

� �%��*�-����&': 

B/A + �,�+ ��;�B*A-1; 

A\B + �,�+ ��;�A-1*B, 

�%�A-1 –���%��%���-����&*
� 

� 7%��*� $�$�%-� � � 5���� � +�*�'� ��,#� X=A\B� �%�� !�+���� #� ML� !��

��,�-�8�6� $,%& ��'��8��-�� ������ *"�5� +�"���$��+#;� � !� � ��8����-�� � 7%��*� #�

!��%0��$� �+ �� $��#"�#���-����& ��
���,��"����� *"9��� –�,�� !+��'���"+��������

-����&*�� ��� ���"#���5� ��!"���� +�����+#;�'$*� -%����-� +�"�6.%�'� 4�#$�� !�

.�$�"�+�-�+�����-�8���+��8��%�%-%���
 

�
�
������$,��6+���*�-����&'� 

:"9��#�-����&i Α���!-i��-�m*n�!�-i������*�"��+i�,�+i���-��$��+,&*-������
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��%�0�-��-����&6�ΑL
���!-i��-�n*m��*"��-�;���!+#�����$,��'�+���/�#�+i���7%�� �

���-����&i Α. 

��"�-�.���-� 

ai,j
T = aj,i ; (i=1,2,..., n; j=1,2,..., m). (1.6) 

��ML &*��,%��& *�,�!��.�;�'$*�$�-+���-��′ . 

�
�
�����-��-����&' 

2i�� ���-�6� -����&  Α� ��!#-�;�'$*� �i5$�%� .�$��� � �� *"%� !���+i�'�6; 

��$�#,��-�#-�+�-� 

- �≥� ���������8��0� �=� ��i�'"��,�� Α=[0] ); 

- �� ⋅α=⋅α ���%�α��i5$�%�.�$����,��.�-#� �� =− ); 

- ���� +≥+ ; 

- ���� ⋅≤⋅ ; 

- ���� −≥− . 

�����5�i�'7��%8"����.�$�6+��������-����%0��'���$�#,�i��������-�� 

∑=
M

LM
L

����
�

�  (1.7) 

 -�-�"$�-��'���$#-��-��#� +�%�%-%��i+�-����&i�!���*�"�-�� 

∑=
L

LM
M

����
�

�  (1.8) 

 -�-�"$�-��'���$#-��-��#� +�-����&i�!��$��+,&*-�� 

∑=
LM

LM� �

�
���  (1.9) 

 -�"��i�'�"+�������5�i!�$#-��"+�����i+�-��#�i+�#$i��%�%-%��i+�-����&i. 

��ML ��*���.�$�%��*����-�-����& � $�#;�1#�"& *�norm: 

norm������+ �,�+ ��;
�

� � ; 

norm���inf) + �,�+ ��;
�

� � ; 

���	���
���	������+ �,�+ ��;
�

� � . 
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	�%��%��*� -����&'� 7���"�� !�$��$�+#;�'$*� ,��� ��!���#�"#� ��!8��#0%����

%�%"���.����-%�%0�� !��-��-%����-��#�-����.� 5�1��- 
�	�%��%��6�#�+ ���7%�� �

���+�� ���/�"+�������/�-����& ���!�+�;�'$*���"��"+��������-����&*�Xn*n=A-1
n*n���*"���

�#�#.��,�-��0%��6����+�� ��#����;������.�#�� �8����'�#�-����&6�En*n : 

QQQQQQ 

�


 ��� =⋅ − , (1.10) 

����#���!8���#� 5�1��- � 



















=



















⋅



















	�����

������������

����	�

�����	

���

������������

���

���

���

������������

���

���

��

�����

�����

��

�����

�����

QQQQ

Q

Q

QQQQ

Q

Q

���

���

���

���

���

���

 (1.11) 

��*�-����&'��%+%��"�8����!- �#� �n≤�����%��%��*�.�$���+�"��#6�'�+�#.�#��

+�"���$��+#6.��1��-#�#�� 

∆
=−

7
�

�



� , (1.12) 

�%��



 -���6!���-����&*��-����&*��$"���%���!���8%��� .���������" +�� 

     ∆  -�+�!��.��"
 

2���n�����!���#�"��!��1��-#��6���
����$��6�'��#0%�8��- !�"�-�
 

:"� +����� !� ��
����� %�%-%���� kc-8�� $��+,&*� ��%��%��/� -����& � �� -�0���

+�!��.������!+�*!#6.��$�$�%-#�n�� � 5����� +�*�'�!�n��%+ ��-�-�
 



















=



















⋅



















NFQ

NF

NF

NFQ

NF

NF

QQQQ

Q

Q

�

�

�

�

�

�

���

���

���

�

��

��

�

��

��

��

�����

�����

������

���

������������

���

���

, (1.13) 

�%�




=
≠

=
��	

���
�

������

������
� NFL    
�
1, 2, ... , n. 

��"�-� .���-�� ��*� +�!��.%��*� #$ �� %�%-%�� +� ��%��%��/�-����& � �%��� ����

��!+�*!����n�$�$�%-�� +�*�'
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�%5�, �� ��.�$���+�"���$��+#6�'�,���-�7��������!���#�"��
���!+�*!#+����

$�$�%-��� +�*�'�-�0����#�'-*"�-�!�+ ��-���-%��� +����,��"�����-%����-�4�#$�
 

��ML���*���%��%��*�-����&'�+�"���$��+#6�'�1#�"& 6�inv(A). 

1.1.6 ��!��.��"�-����&  

��*� ��.�$�6+���*� +�!��.��"�� -�0��� ,%�%�+������ ,�.��"�+#� -����&6� +�

���"#��+#�1��-#�!����,�-�8�6�,�*-�8�����#�-%�����4�#$�������!���#+�������#��"�

//�� �8����'����%�%-%�� +
 

:"9��#�$�%- �,�*-�8�����#�+�"���$��+#;�'$*�,%�%$����+"���*�" +�������%���

+���#+�����9���������"��,%�%$����+"��!- �6;�!��"�+�!��.��"�����,�����%0��5
 

��ML���*���.�$�%��*�+�!��.��"��-����& �+�"���$��+#6�'�1#�"& 6�det(A). 

�
�
���� �� ����8�-����&  

�� ��-�"+�������/�-����& �����!�+�6�'�$#-#�//�� �8����'����%�%-%�� +� 

( ) ∑
=

=
Q

L
LL��	


�

. (1.14) 

��ML &6��,%��& 6�+�"��#;�1#�"& *�trace(A). 

���8� -����& ��� +�!��.�;� " �'" $�'� � � 5��� �%!��%0���� � +�*�'� #� +�� �� 5�

$�$�%- 
���ML�&6��,%��& 6�+�"��#;�1#�"& * rank(A, tol). 

�
��(�+����* 

��"�������,%��&i/�����-����&*-�����,%�%+ �����+ ���7%��*�#�+i�,�+i���$�i�!�

+���!�-�����+%�%��-��#������& ��
�
���� �� ����� � 

�
�


����
�

��

��

�	

�
���

��			���
�

	�

��	����

	���








=















=







=















= ����  

��*� �%,������ +�� ��� +� ��.�$����� ��%��%�#�-����&6� ������ ��*� ,������ – 

+�!��.��"�-����& ��
�� �$#�� ��*��"�����$��+,%&'���,�+�����.�$��-���������
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�����&*��
� 

3�+������# (������: 
1 2 3 

1, 2 K= A*D+BT-C 
���

���� +≤+  

3, 4 K= (A+C)T.*B 
���

�� ���� ≤  

5, 6 K= (A-C)*(D*B) 
���

���� −≥−  

7, 8 K= (BT-A-C)*D 
���

���� +≤+   

9, 10 K= (C*D-A)T+B 
���

� ���� ≤�  

11, 12 K= (C-A)*DT*B 
���

���� −≥−  

13, 14 K= (A.*C)*B 
���

���� +≤+  

15, 16 K= A*(D*CT-B) 
���

�� ���� ≤  

17, 18 K= C*D-A-BT 
���

���� −≥−  

19, 20 K= A*D2+C 
���

�� ���� ≤  

21, 22 K= (A+C)*B 
���

�� ���� ≤  

23, 24 K= (A*B)2 
���

�� ���� ≤  

25, 26 K= D*CT+B 
���

�� ���� ≤  

27, 28 K= A*D+BT-C 
���

�� ���� ≤  

29, 30 K= A*(D*CT-B) 
���

���� −≥−  

 

 

)������������������3�� 

��<���:���
������)�����
�������:��� 

(�������
�
��
	�=���>����
 

 

� �'�����������+.���$*���.�$�6+��������	��"��� �$�$�%-�� � 5����� +�*�'�

!�� 5$��-��"�%1 & ;���-�
 

�
���%��%��.� �+ ��-�$�  

��$�%-� n�� � 5����� +�*�'�!�n��%+ ��-�-��-�;�+�8�*��� 
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








=⋅++⋅+⋅

=⋅++⋅+⋅
=⋅++⋅+⋅

�����

���������

��������

���

��������������������������������������������

���

����

QQQQQQ

QQ

QQ

�������

�������

�������

 (2.1) 

�/�-�0���!�,�$���� �#�-����.� 5�1��- � 

A*X=B, (2.2) 

�%�



















=

QQQQ

Q

Q

���

���

���

���

����������������������������������

���

���

��

�����

�����

�  -"+��������-����&*�"�%1 & ;�� +� 



















=

Q�

�

�

���

�

�

�  -�+%"����+ �'����.�%� +���



















=

Q�

�

�

���

�

�

�  -�7#"���5�+%"����"��%� +. 

�,�$����� 7%��*�$�$�%-�� � 5����� +�*�'�,�� �*6�'$*�����+ �8�#,�� 

-� ��.� �-%����� �-%������%��%��*�-����& �"�%1 & ;�� +��,��+����
��-%����-%����

4�#$����� �7 �� 

-� �%��& 5� �-%�������'6������(%5�%�*��,��$���� �%��& 5���� �7 �
 

:"9�� -����&*� �� �%�$����+��� ������  /� +�!��.��"� �%� ��� +�6;� �#�6�� ���

$�$�%-��-�;�;���%�� 7%��*� 

X=A-1*B, (2.3) 

�%�A-1 --����&*����%��%������-����& ��. 

	�.�$�%��*� "��%� +� !�� 1��-#��6 � ��
��� ��!�+�;�'$*� -%����-� ��%��%��*�

-����& �"�%1 & ;�� +
 

(8�����,��+��#�
��-%���"��� ���.�$�66�'$*�!��1��-#��-�� 

∆
∆=

∆
∆=

∆
∆

= Q
Q��� ������ �

��
� , 

�%∆  -�+�!��.��"�-����& ��;  

   L∆ -�+�!��.��"��-����&'��*" �����-�� �!�-����& ���7�*��-�!�- ���//�i-8��$��+�&*� 

����������+%"����-�+ �'����.�%� +�B. 
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	���+��!�,%�%.�$�%����+�9%�-%��� +�+�"���$��+#6�'�#�,��"��& �� �'"��,���

� 7%�� � �+�#.�#�� $�$�%-� � +�*�'� �%+�$�"�8�� ,��*�"#
� 2��� n��� & � -%����� �#0%�

,��&%;-" �����%�%"���- .� 
 

��5� �'7�,�7��%��-�-%����-�� 7%��*�;�-%����4�#$�
 

�%����4�#$��-�0�����!���������+��%��,�� 

-� ,�*-�5� � ��� *"�5� ,��*8�;� #� ,�.%�8�+�-#� +�"�6.%�� � "��%� +� !� �-8�� ,�� n-�5�

,%�%�+��%�'�-����&'�"�%1 & %�� +�������"#���8��+�8�*�#�� 

-�!+������5�� ���*"�5�,��*8�;�#�,�.%�8�+�-#�+�!��.%�� �"��� +�!�n-8��,���-�5�!�

,%�%�+��%��/�$�$�%-��� +�*��'
 

��"�6.%��*�k-8��"��%�*���k = 1, 2,..., n-1 ��!��-8��� +�*��*���i = k+1, k+2,...,n) 

+�"��#6�'� 7�*��-� !�- ��� #$ �� "�%1 & ;�� +� i-8�� � +�*��*� � !��&%6� - 0�

,�,%�%�� -�� "�%1 & ;���-�� &'�8�� � +�*��*� ��� + �,�+ ���-�� "�%1 & ;���-�� i-8��

� +�*��*��,�-��0%��-�����-�$7�����5�-��0��" 

NN

LN

�

�
� = . (2.4) 

���%!#�'��� �"�%1 & ;�����-8��� +�*��*�,��5-#�'���$�#,� �!��.%��*� 

�

���������	��

��

NLL

NMLMLM

LN

����


�������

�

−=

++=−=
=

  

( )
( )
( )��

��

��

�

�

�

 

�� 1��-#���� ��
��� ��� ��
��� !��"� ���� +�"���$��+#;�'$*� *"� $�-+��� �,%��&  �

,��$+�;��*��#�,��+ 5�.�$��� �+�"���$��+#6�'$*�,�,%�%�� �!��.%��*�"�%1 & ;�� +����  

����� ����#�� + 5�-���+ 
 

2��� +�"�6.%�� � "��%� +� - � -��'��5� ,�8� �� �"�#8�%��*� ,��� ,%�%���#�"#�

"�%1 & ;�� +�-�0��+����$*8�#���,%�%$����+"�6�� +�*�'���"�-�.���-��9���-��#� �

"�%1 & ;�� +� ��� �,���+�"�6.%����"��%�*�� �� ��#���-�"$�-��'���-�0��+�-�
��%5�

%��,�-%�����4�#$��!+%�'$*�+�����-�8���+��8��%�%-%���
 

� �,�+ ���� ��� +�9%,�����8��� $�%-�� ��8����-#� ,�*-�8�� ���#� -�0%� -����

+�8�*���������5������$
��
�
 

���%!#�'��� �,�*-�8�����#�$�$�%-��� +�*��'���
���-�;�+�8�*�� 
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








=

=++
=+++

�

�����

��������

������������������

�����

����

QQQQ

QQ

QQ

���

�����

�������

 (2.8) 


�%1 & ;���� LM� � ��� �� � $�$�%-�� ��
	�� �%� $,�+,���6�'� !� + �,�+ ���-��

"�%1 & ;���-��$�$�%-����
��
� 

(�,%�%�+��%��/�$�$�%-��"��%� �-�0��+����!���#+����!��1��-#��-�� 

�
�

�










= �      ��	��������	��
� −−=

−
=

∑
+=



�
�

���

�
LL

Q

LM
MLML

L  (2.9) 

� �,�+ �����$�%-��!+�����'�8�����#�-�%�+�8�*���������5������$
��
�
 

��ML�� 7%��*�$�$�%-��� � 5����� +�*�'�-�0%��#�����$*8�%���!����,�-�8�6�

� +�$������'�8��� �%��*�������%��%��/�-����& � 

X=A\B, 

X=inv(A)*B, 

X=A^-1*B. 

�
��(�+����* 

��!+�*!����$�$�%-#�� � 5����� +�*�'����������#������& ��
���-%����-�4�#$���

-%����-� 
��-%��� ���� -%����-� ��%��%��*� �!�� !�+����*-� +�"����.��
� (�������

,%�%+ �"#��%!#�'��� +
 

�
���%����.� ��%"�-%���& / 

��*�,%�%+ �"����.�$����� �+�+%$������%"����!��.%��*��%+’*!�"� 


��������� LQLQLLL �������	����
����

=−⋅++⋅+⋅=  

����! �+ ���8����!+’*!���*�$�$�%-���%+’*!"��,�+��� ��#������!'"�-������#�*
 

2���+�"���$���� �-%���#���%��%��*���.�$�����$"��*���5����#��"�+�� ���/�

-����& � "�%1 & ;�� +� �� ��� ��%��%�#
� �%!#�'����-� ,�+����� �#��� �����.���

� �8����'���-����&*
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j
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x
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an
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n n

=
,

i
n − ÷

−
1 1
1

s = 0

j
i n+ ÷1

s s a xi j j= + ⋅,

x
b s

ai
i

i i

= −

,

�����������������	������
���������������  
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������� 2.1 

��	�
� ���
����
�	���� ��	�
� ���
����
�	���� 
1,2 3,14x1-2,22x2+1,17x3=1,27 

-2,12x1+1,32x2-2,45x3=2,13 
1,17x1-2,45x2+1,18x3=3,14 

17,18 0,78x1+1,08x2-1,35x3=0,57 
1,08x1-1,28x2+0,37x3=1,27 

-1,35x1+0,37x2+2,86x3=0,47 
3,4 2,45x1+1,75x2-3,24x3=1,23 

1,75x1-1,16x2+2,18x3=3,43 
-3,24x1+2,18x2-1,85x3=-0,16 

19,20 0,83x1+2,18x2-1,73x3=0,28 
2,18x1-1,41x2+1,03x3=-1,18 
-1,73x1+1,03x2+2,27x3=0,72 

5,6 1,65x1-2,27x2+0,18x3=2,25 
-2,27x1+1,73x2-0,46x3=0,93 
0,18x1-0,46x2+2,16x3=1,33 

21,22 2,74x1-1,18x2+1,23x3=0,16 
-1,18x1+1,71x2-0,52x3=1,81 
3,14x1-2,22x2+1,17x3=1,27 

7,8 3,23x1+1,62x2+0,65x3=1,28 
1,62x1-2,33x2-1,43x3=0,87 

0,65x1-1,43x2+2,18x3=-2,87 

23,24 1,35x1-0,72x2+1,81x3=0,88 
-0,72x1+1,45x2-2,18x3=1,72 
1,38x1-2,18x2+0,93x3=-0,72 

9,10 0,93x1+1,42x2-2,55x3=2,48 
1,42x1-2,87x2+2,36x3=-0,75 
-2,55x1+2,36x2-1,44x3=1,83 

25,26 3,14x1-2,13x2+1,17x3=2,54 
1,75x1-1,45x2+2,67x3=0,65 

-0,78x1+2,04x2+1,52x3=1,33 
11,12 1,42x1-2,15x2+1,07x3=2,48 

-2,15x1+0,76x2-2,18x3=1,15 
1,07x1-2,18x2+1,23x3=0,88 

27,28 0,83x1+2,18x2-1,73x3=0,28 
-1,18x1+1,71x2-0,52x3=1,81 
2,18x1-1,41x2+1,03x3=-1,18 

13,14 2,23x1-0,71x2+0,63x3=1,28 
-0,71x1+1,45x2-1,34x3=0,64 
0,63x1-1,34x2+0,77x3=-0,87 

29,30 0,63x1-1,34x2+0,77x3=-0,87 
1,42x1-2,87x2+2,36x3=-0,75 
1,65x1+1,27x2-0,84x3=1,51 

15,16 1,63x1+1,27x2-0,84x3=1,51 
1,27x1+0,65x2+1,27x3=-0,63 
-0,84x1+1,27x2-1,21x3=2,15 
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���������������������� 

	
�	��
��
��������	����
������������ 

���	����������
�
� 

 

��������������� !���"#���!�"�$ ��������
��%����!��%�%&��'�%�(�����

"�"�&%�����)��*��� �#��� 

�����&��&��!��� �'�%���� 

	�+&��#� "�"�&%� ����)��*� �� �#���  �(���"�� ,-��"#� ,� &�&(����&*��.�� ���

/�*�'��*� �'��&0�'�".�/����*�/�����1��*,�(�*�"����!��*��&2�%� � ���13��,2&��*�

&�&(���!��*����.$3�*� 

��#���!�"�&��#�"��,%� ������/�,3�,�&�&(���!��*�(���*�%����!��%�%&��'�%�

"/&�+,��&��*�'��� �1��!������"�,/���/���%&���� 

q –�(���(�"��� ,1�� �,�"*&%��� 

m=q-1 – (���(�"����&1��&2��*� ,1�� � 

p – (���(�"���3���(�1��& �'�%�%��"��,%�%�� 

n=p-m –�(���(�"����&1��&2��*�(���,�� � 

4�"�#� .��3�� "(��'�-%�� %����.�� �&1��&2��*� (���,�� � G� ��1%���%� �p*n), 

1	-'�����D���1%���%��m*p), ����(�2� &(������	5�E ��1%���%��p*1), '2&�&��"��,%,�Jk 

��1%���%��m*�
��( �'����,�'��3������,�%����.$��/��� �Z���1%���%��p*p). 

��&%&����%����.��G ��D ,� ��$$��"#�13�'���1�6��%,��%�� 






−

−−
=

�������������	
�����	��
������������

�����������

����������
�����������������������
����������������������

��

��

�LM  






−=

�����������������	��	��
������������

�����������

�����������
�����������������������

��

��

�LM  
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��/�+&%���� �#��#�,�%����!��)�6��%��1��1�(���%�
%�����I i II�1�(���%��

���*3�6�� 

U(p,1)=E(p,1)-Z(p,p)*I(p,1), (3.1) 

D(m,p)*I(p,1)+Jk(m,1)=0, (3.2) 

GT
(n,p)*U(p,1)=0, (3.3) 

4�%��2� +������
����GT 1�� ���%�-%�� 

GT*U=GT*E-GT*Z*I=0, 

GT*Z*I=GT*E. (3.4) 


�	-'��-%���� �#��#�����
�������

� ��'�,�"�"�&%,� 





=

−=

����

� N

�����

���

77
 (3.5) 

4�1��!� +��%����.$�(�&6�.�&��� �#(����� &(���� �����*�!�&�� �#(��: 

�






 −
=








=

���

�
�		


���

�
�

77

N
 

����%�-%��"�"�&%,�����)��*��� �#����������#(,�%�2��� ���+�����$��%�1� �'�%�*�

%&��'� � 

������ '���# 

	�1��*, ����"��,%�����/�,3��������"�"��,%� ������/�,3� �3��(�*�&�&(���!-��*�

���.$3� ����'���*������"�������4���%&����"*&%���'���� ����������� 

�����.#���� 

�� ��� �1, 
� 

E2, 
B 

J1, 
A 

J2, 
A 

r1, 
O% 

r2, 
O% 

r3, 

% 

r4, 

% 

r5, 

% 

r6, 

% 

r7, 

% 

1-6 50 - - 4 8 10 10 4 6 20 4 
7-12 - 10 3 - 8 14 20 12 40 12 6 
13-18 40 - 2 - 10 5 8 12 6 15 5 
19-24 - 40 - 1 12 10 16 6 14 16 4 
25-30 - 20 4 - 8 4 5 8 10 6 4 
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�����&��'�!����&(�%&�'�.�0 


�!�"�&��#�"��,%� � �(������1��'�/�%�3�$��/&��.�0��� �3��'��&��#����\�� 

�����&��&��0�%����.����Inv(A)*B. 4��(������$ ����!�"���&��*�'��)�'�#���+&��#�

(�2��%�%&��'�%�� �(���"�� ,$!��6,�(.�0 ML etime(t2,t1), tic����to�� 

r1

J 2

r 2

E 1

r 3

E 2

J 1

r5r 6

r7

r 4

d

c

a
b

r1

J 2

r 2

E 1

r 3

E 2

J 1

r5

r 6

r 7 r4

d

ca

b

r 1

J 2

r 2

E 1
r3

E 2

J 1

r5
r 6

r7

r4

d

ca

b

1,  7 ,  13 ,  19 ,  25

3 ,  9 ,  15 ,  21 ,  27

5 ,  11 ,  17 ,  23 ,  29
Jbkmghd ���

r1

J 1

r2

E 1
r3 E 2

J 2

r 5

r 6

r7r 4

d

c

a
b

2,  8 ,  14 ,  20 ,  26

r1

J 2

r 2

E 1

r3

E 2

J 1

r5

r 6
r7

r4
d

c

a

b f

4 ,  10 ,  16 ,  22 ,  28

r 1

J 2

r2

E 1

r 3

E 2

J 1

r5

r6

r 7

r 4

d

c
a

b

6 ,  12 ,  18 ,  24 ,  30
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���������������������
 


4�	���7�����4
���
���� 

 

����� �������� �� !���"#�  ���*� , ���� 1��!&��#� "�,/��& �*� /�����%� �

��)�i��+� �8�'�� �%� 1�"���%� ���  �(��, ���� ��1��%������� �/&��.�0� 1� ��%�� ,�

"&�&'� �8��/�(&���ML. 

4.1 ��&��&��!�i� i'�%�"�i 

4.1.1 ��3������/��#��# 

5�,/��& �%�/�����%�%��54
�,�%��&%���.��1 ,���6,�(.�$��8��%�-� �3�#'� 

∑
=

−− =++++=
Q

L

LQ
LQ

QQ
Q �����������	�
�

�

�
�� � , (4.1) 

'&� n -"�,/����/��i��%,����A=[a0 , a1 , … , an ] -� &(����(�&6�.�-��� � 

x -��&1��&2���1%����� 

54�+���(�� �(���"�� ,$��"#�,��&���0�� ��%���!��3��(&�, ���#� �
/&�&'����*����!�"�����*�6,�(.�#*� 

�� /�(&��� ML� ��6��%�.�#� /��� 54� 1�&��3�-��"#� ,�  �3�#'�� %����.�-�#'(��

(�&6�.�-��� �� ,/��#'(� ���*� 1�� 1%&�+&��#%� "�,/&�$� �&1��&2��0� 1%����0�� ������

 &(���,�A=[2 5 0 –���� �'/� �'�-�/�����%��� �	
 �� −+ �� . 

5�i'� %���� ��� , �1i�� 8�� �,%&��.i#� &�&%&��i � %�"� i � ,� ML� 1� 2'��

/�!���-��"#�1��'���.i. 

�� &"���54����&(����%�2���1��'�/�%�3�$�6,�(.i0� 

P_str = poly2str (A, x_char) 

x_char –�"�% ����&�1����2&��#��&1��&2��0�1%����0�� 

P_str –�54�,�6��%��i�"���(��"�% ��i � 

�� &"������&(����' ��54�,� �3�#'i�'���i�%�2���1��'�/�%�3�$�6,�(.i0 

P_str = printsys (B, A, x_char) 

'&�!�"&����(�–�/�����%�1�(�&6�.�-���%�������1��%&���(�–�/�����%�1�(�&6�.�-���%��

�. 
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���������*, ���#�1��!&��#�"�,/i�& �3��/��i��%� 

4�����%��
��
�%�2���/&�&� ������'�� �3�#',� 

( ) ( )( )( )( )QQ ���������� +++++= ������ ���� . (4.2) 

��3����%� ���*, ���#� ( )��Q ��"(��'&��)����/�'"�� �� ���1,��
��
����1� �-��"#�

"*&%�$�����&������ �'/� i'��"���'��.�-0�"*&%��/�����%�i-3��/��#'(,���!�"�$-��"# 

1��6��%,��$� 

LLL ���� += −� . (4.3) 

9(8��/�(��"��� �� �� = ���� �(�������/&��.i$��
��
�n���1i �/��� �� ����
��= �����

%�2�������%������2��&�1��!&��#� 

��%��&%���.i�'� &'&����8��'�#�/�����%� �1�3�����3�� �3�#',��&�%�2���

/��,', ������3����%��i��+��8�'��)�,���1,%i��i�!�"����/&��.i)��n�'�'� �������n 

%��2&��
����i2�"*&%������&��� 

��ML�1��!&��#�"�,/i�& �3��/��i��%��1�(�&6�.�-���%� A� ���*� ,-�6,�(.�# 

Y = polyval (A, X), 

X –���!(���,�#(�*���&�����!�"�����1��!&��#�54��%�2&��,���"(��#���$� &��!���$�

����%����.&$
� 

4.1.3 �
/&��.i0�1i�"�,/i�& �%��/��i��%�%� 


/&��.�0�1�54�"(��'�$��"#�1�' �*�!�"������
�6��%, ���#��� �3��54��#(�)�-�

�&1,������%��/&��.�0����������1��*,��(�)�3��(�&6�.�-��� ���
� ���*, ���#�1��!&��#�

�� �3��54�� 

�&*�)�%��%�-%��' ��54��Pn(A,x)����Gm(B,x)�����&1,������%�'&#(�0��/&��.�0�-�

8&��'���54�Hk(C,x). 

��#� ��3&����!��3�� "(��'���#� ���  �'��%���#� /�����%� � Pn(A,x)� ��� Gm(B,x) 

��&��� "/�!��(,�  �(������  �'/� �'�,� �/&��.�$���'�%�"� �%�� (�&6�.�-��� �A� ���B. 

��&�� 1 �2�$!����� �&��8�� ����%�$�����1��)���1%����/�/&�&'���� ��&���'�/� �����

%&�+�)� 1�� ��1%���%� %�"� � '�� ����+�3�� �,�#%�� 1�� ��� ��#� .�*� �/&��.�)� ��1%���

�&1,�������Hk(C,x)�%�2���1��)���#(�k=max(m,n)��:,�(.�#�6��%, ���#�(�&6�.�-��� �

C� "�,/��& �3�� /�����%��� #(�)� -� ��3&����!��$� ",%�$� /�����%� � 1� %�"� �%��
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(�&6�.�-��� �A����B�%�2&�%���� �3�#'� 

function C=polysum(A,B) 

  n=length(A); 

  m=length(B); 

  if n>m, r=n-m; B=[zeros(1,r),B]; 

       elseif m>n, r=m-n; A=[zeros(1,r),A]; 

  end 

C=A+B; 

% end polysum 

��#  �(�����# �i��+ "(��'��* �/&��.i) ML %�-  "���-�i 6,�(.i0 conv, 

deconv, polyder �����+�� 

C = conv(A, B) –� ��!�"�$-� (�&6�.�-���� "�,/��& �3�� /�����%��� #(�)� -�

'��,�(�%� ' �*� /�����%� � 1�  &(����%�� (�&6�.�-��� � �� �� ��� 	�1%���  &(����� � 

 �1��!�-��"#���"�,/��%�!���%� 

length(C)= length(A) + length(B) - 1. 

[D, R] = deconv(A, B) – �/&��.�# ��1(��',, ��!�"�$-: 

D –� (�&6�.�-���� "�,/��& �3�� /�����%��� ����%���3��  �'� '��&��#� /�����%�� 1�

 &(����%�(�&6�.�-��� ������/�����%�1� &(����%�(�&6�.�-��� ��; 

R –��"��!�� �'�'��&��#� 

4���.��%,�"/�� &'�� &� �'��+&��#� 

A = conv(D, B) + R. 

A1 = polyder(A) – ��!�"�$- (�&6�.�-��� �1 "�,/��& �3� /�����%�, #(�) - 

/�*�'��$ /�����%� 1 (�&6�.�-���%� �. 

[Q, D] = polyder(A, B) – ��!�"�$- !�"&����( Q � 1��%&���( D /�*�'��0 

!�"�(� ' �* /�����%�  1  &(����%� (�&6�.�-���  � � �, ����� 
_






=
�

�

�

�
, ���, #(8� 

/��",���) �'��  �*�'��) /���%&��: 

D = polyder(A, B) – ��!�"�$- (�&6�.�-��� D /�*�'��0  �' '��,�(� /�����%�  1 

 &(����%� (�&6�.�-���  � � �, ����� D=(A•B)'. 
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����� '���# 

	�1��*, ����1��!&��#�1%i���i Z�/���x��#(�)�1%i�$-��"#� i'�-��'�����1�(��(�%�

0.1. 

����1��'�#� ���*, ���#�Z��� &'&�i�,������.i�
������.�*� ���1�*�6,�(.i0�f1(x), 

f2(x), f3(x
�-�"�,/��& i�/�����%���#(i��i1�#��"#��'��� i'��'��3��/��#'(�%�i�1��!&��#%�

(�&6i.i-��i � 

��#��&/����*� ��i���i �� 

����

����
�
������ ����
� +++−−= ������
  

��	
��
������� ��
� +−+= ����
 ; 

�
��	�����


�� ��
� −++−= ����
  

��#�/����*� ��i���i � 

�
��

���������� ���
� −+++= �����
  

�������
�
������ ��
� +−+= ����
  

������������
��� ���
� �����
 ++−=  

4��,', ����3��6�(��6,�(.�)�f1(x), f2(x), f3(x) ,��'��%,� �(������Z(x
�,���+�%,��

�� &"������&(����f1(x), f2(x), f3(x) �� Z(x
�,� �3�#'��54� 

�����.#�
�� 
�� ��� :,�(.�#�Z(x) �� ��� :,�(.�#�Z(x) 

1, 2 ( ) ( )( ) ( )�
�
�
 ��� �
 −+  17, 18 ( ) ( )( ) ( )�
�
�
 �
 ��� ⋅+  

3, 4 ( ) ( )( ) ( )�
�
�
 ��� �
 −⋅  19, 20 ( ) ( )( ) ( )�
�
�
 �
_

�� 	�� +−  

5, 6 ( ) ( ) ( )�
�
�
 ���
�
� ⋅+  21, 22 ( ) ( )( ) ( )�
�
�
 ���� ⋅−  

7,8 ( ) ( ) ( )�
�
�
 
� ��� ⋅−  23, 24 ( ) ( ) ( )�
�
�
 �
 ��� −+  

9, 10 ( ) ( )( ) ( )�
�
�
 ���
�
� ⋅+  25, 26 ( ) ( ) ( ) ( )�
�
�
�
 ����� ⋅−⋅  

11, 12 ( ) ( ) ( )( )( )_��� �
�
�
 +⋅  27, 28 ( ) ( ) ( )
����� �
�
�
 +⋅  

13, 14 ( ) ( ) ( ) ( )�
�
�
�
 �	�� ���� ⋅−⋅  29, 30 ( ) ( )( ) ( ) ( )( )_��
_

�� �
�
�
�
 ⋅−⋅  

15, 16 ( ) ( ) ( ) ( )( )_���� �
�
�
�
 ⋅+⋅    
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���������������������� 

�4	
�5�����9����
�
����;���<=�
�����	���� 

 

��������������� !���"#��/�", ���������!���6,�(.�0��������!��%�� ���1�%�� 

�����&��&��!��� �'�%�"�� 

�/��("�%�.�#� � �'� ������ approximare -� /�����2, ���"#
� -� .&� /�����1�&�

 ���2&��#��,'�-#(�*� &��!���!&�&1���+�������+�/��"��+�. 

�/��("�%�.�#� �����!��0� 6,�(.�0�� ( )� 
 �� �= ; i=1, 2, ... , n� %&��'�%� ��)-

%&��+�*�( �'���� �/��#3�&�,� �1��!&����/���%&��� �'&#(�0��������!��0�6,�(.�0 F(x), 

8��1��&1/&!,$���%���%�1�.�$�6,�(.������ 

( )( )∑
=

−=
Q

L
LL ����

�

� . (5.1) 

9(8�� �#(�"���6,�(.�0��8���/��("�%,-�� 1#���"�,/��& �)�/�����% 

M
N

M
M

N
NN ����������� ∑

=
=+++==

�
�� ������� , (5.2) 

���1�'�!��1 �'���"#�'�� �1��!&��#� &(���,�(�&6�.�-��� ��=(�0, C1, …, Ck
�+�#*�%�

 ���+&��#�"�"�&%������)��*��� �#������1)-3��/��#'(,� 

����������
��

=
∂

Φ∂=
∂

Φ∂=
∂

Φ∂

N���
 (5.3) 

'& �

� �

�� L
M
L

Q

L

N

M
M ��� −=Φ ∑ ∑

= =
;  ∑ ∑

= =
⋅





−=

∂
Φ∂ Q

L

P
L

N

M
L

M
LM

P

����
� � �


 ;  m=0, 1, …, k. 

4�"�#�/&�&� ��&���"�"�&%������
��,'&�%���� �3�#'� 














⋅=+++

⋅=+++

=+++

∑∑∑∑

∑∑∑∑

∑∑∑

===

+

=

==

+

==

===

L

Q

L
L

Q

L

N
LN

Q

L

N
L

Q

L

N
L

L

Q

L
L

Q

L

N
LN

Q

L
L

Q

L
L

Q

L
L

Q

L

N
LN

Q

L
L

��������

��������

�������

��

�

�

�
�

�
�

��

�

�

�
�

�
�

���
��

���

����

����

 (5.4) 
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�� "�"�&%�� ���

� ��!�%��� 8�� &�&%&���� %����.�� (�&6�.�-��� � �� ��  &(���� 

 �����*�!�&�� �B�%�2����/�"����6��%,��%�� 










⋅=

=

∑

∑

=

=

+

�

�

�

�

Q

L
L

P
LP

Q

L

MP
LPM

���

��

 (5.5) 

'&  m=0, 1, …, k;   j=0, 1, …, k. 

4�"�#�  �1��!&��#� (�&6�.�-��� � "�"�&%,� ���

� %�2���  ���+���� �,'�-#(�%� 1�

 �'�%�*�%&��'� ����/��(��'�%&��'�%���,"�� 

�/��("�%�.�$� %&��'�%� ��)%&��+�*� ( �'���� � !�"��� 1�"��"� ,$��� '�#�

 ��� �$ ���#� �����!��*�6,�(.�)��8���,���/��,!&��� �*�'��&("/&��%&���������(�2�

'�#�1%&�+&��#���	-%,� ��6��%�.�0�/��������!���6,�(.�0�/����& �"�(�*� �%�3�*�'��

��!��"�����1��*,�(,� 

�� ML '�#� 1��*�'2&��#� (�&6�.�-��� � �/��("�%,$!�0� 6,�(.�0� %&��'�%�

��)%&��+�*�( �'���� � �(���"�� ,-��"#�6,�(.�#�polyfit: 

P=polyfit(Xt, Yt, k). 

P –  &(���-�#'�(� (�&6�.�-��� � �/��("�%,$!�3�� /�����%��� ,/��#'(� ���)� 1��

,�, ���#%�"�,/��&)�x ; 

Yt (Xt) – �����!���6,�(.�#� 

k – /��#'�(��/��("�%,$!�3��/�����%�� 

������ '���# 

�/��("�%, ���� �����!�,� 6,�(.�$�� 8�� /�� &'&���  � �����.�� ����� 54 k-3��

/��#'(,� %&��'�%� ��)%&��+�*� ( �'���� � �k=2, 3, 4, n-�
�� 
�!�"����� 1��!&��#�

%���%�1,$!�3�� 6,�(.�����,�Φ��4�����$"��, ���� �&1,������� 3��6�(�%��� ��(������

/��3��%,�' �!��/�����1��)�(���(�"��������!��*���!�(� �n��� ����n��
��
.������ /�� �

(���(�"�����!�(������!��"����/��("�%�.�0� 
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�����.#���� 
�� ��� �����!���6,�(.�0 

xt -1 1 3 5 7 9 11 13 15 1,2 

yt 8.71 109,8 124.4 122.5 112.1 96.6 80.2 6.3 57.9 

3,4 xt 2 3.2 4.4 6.2 7.8 9.5 10.9 11.5 12.7 

 yt 19.9 22 30 42.1 65 99.5 120 126.8 133.4 

5,6 xt -3.5 -1.5 0.5 2.5 4.5 6.5 8.5 10.5 12.5 

 yt 0.45 -3.09 -4.01 -3.9 -3 -1.62 -0.18 0.99 1.72 

7,8 xt 1.25 2.59 4.4 6.54 8.5 11.5 13.5 14.5 15 

 yt 3.0 5.0 7.0 8.5 9.3 9.9 10.6 11.2 11.64 

9,10 xt -2 0 2 4 6 8 10 12 14 

 yt 7.84 7.13 6.31 5.29 4.03 2.5 0.87 -0.68 -0.79 

11,12 xt -1.5 1 2.7 5.5 6.5 8.3 9.6 11.2 12.75 

 yt 2.45 1.12 -1 -2.1 -2.3 -1.9 -1 2 3.5 

13,14 xt 0,67 1,5 2,5 3,5 5 6,5 10 12,4 14 

 yt 110 118,7 124,5 125,2 122,5 115,1 88,3 70 61,2 

15,16 xt 0,5 2,5 4,5 6,5 8,5 10,5 12,5 14,5 16,5 

 yt 23,7 20,1 27,8 45,3 79,2 115,4 132,9 141,1 147 

17,18 xt -2,77 -0,5 1 2 3,5 7 10 11,5 12,5 

 yt -1,5 -3,65 -4,03 -4,0 -3,54 -1,58 0,73 1,4 1,83 

19,20 xt 0,5 2,0 3,5 5,0 6,5 8,5 9,5 11,0 12,5 

 yt 1,23 0,92 0,78 0,68 0,6 0,53 0,49 0,47 0,45 

21,22 xt -1 1 3 5 7 9 11 13 15 

 yt 1,02 2,57 5,51 7,52 8,69 9,38 9,79 10,35 11,64 

23,24 xt -3 0,5 1,5 2,5 4,3 6,2 7,7 9,0 11 

 yt 9,4 7,52 6,75 5,8 3,6 0,53 -1,5 -2,94 -4,4 

25,26 xt -4 -2 0 2 4 6 8 10 12 

 yt 3,1 2,66 1,74 0,35 -1,26 -2,28 -2,07 -0,54 2,53 

27,28 xt 0 0,4 1,5 3,0 4,6 7 9,2 11,5 13 

 yt 1,47 1,26 0,99 0,82 0,7 0,57 0,5 0,46 0,44 

29,30 xt 

yt 
-15 
8.71 

-10 
109.8 

-5 
124.4 

0 
122.5 

5 
112.1 

10 
96.6 

15 
80.2 

20 
6.3 

25 
57.9 
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���������������������� 

����	4
�9��9 

 
����� �������� �� !���"#�  �1��!���� 1��!&��#� 6,�(.�)��8�� 1�'���� �����!����

/����,'�-#(�*�1��!&��#*���3,%&��� �1��'�/�%�3�$����&�/��#.�0�6,�(.�)�"�,/��& �%�

/�����%�%��54
� 

�����&��&��!��� �'�%�"�� 

�� ��,.�� �� �&*��.�� ��3���� #(�� 6,�(.��������� 1��&2��"��� 1�'�$��"#� �&�

�������!������,� �3�#'��3��6�(� �!�������.�� 

�� �
�� ��6��%�.�#� /��� ��(�� 6,�(.�0� 1�&��3�-��"#� ,�  �3�#'�� %�"� � ��

��/��(��'  

�� LL ��� = ,  �� �����
��= . (6.1) 

�����!���1��!&��#���3,%&��� ���1� �$��� ,1��%�� 

��'�!�����&�/��#.�0�/��#3�-�,�1��*�'2&����/�����1��3��1��!&��#��&����)��0�

6,�(.�0�y�,���!(�*�� �'%����*� �'� ,1�� �*�
 	� � �≠ . 

�$� 1�'�!,� %�2�� ��  ���+�����  �'+,(� +��6,�(.�$��8�� ���&�/��$-� F(x). 

����� /��)%�-� ��� '&#(�%,� ���&� ���� � NMM �� +� �� 1��!&��#�� 8�� "/� /�'�$��� 1��

1��!&��#%�������!��0�6,�(.�0�����
�,� ,1�� �*���!(�*� 

( ) ( ) ( ) ������� �� NMNMMMMM ��������� ++++ ===  

��!(,� M� �1 ,���/�!��(� �)� ,1&�����&�/��#.�0� 

�,2&�!�"��� �#(�"���6,�(.�0��8�� ���&�/��$-�� �(���"�� ,$�����3&����!��)�

/�����%� 

( ) ���� �
�

�� +
− +++= N

NN
N �������    � �≤ . 

4���k=n /�����% Pk(x
�"��-�3��������%� ���&�/��#���%����� �.��%,� �/�'(,�

)�3��1��!&��#�"/� /�'�$���1��1��!&��#%��/�!��(� �0�6,�(.�0� �,"�*� ,1��*. 

9(8�������!���6,�(.�#�1�'����,��� ��%�������1��+� ���*� ,1��*������� 

�� �������� LL ==−+  

���1��!&��#�y(x)�%�2��� �1��!����/��/&�+�)����&�/��#.�)��)�6��%,�����$������ 
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M
N

MMMN �
�

����
�

��
������� ∆+−−++∆−+∆+=≈

�

���������
��

�


���
���� � , (6.2) 

'&  �
�

��
�

M−
=  

M
N

MM ��� ∆∆∆ ������ � -/�#%����1��.�� �'/� �'��*�/��#'(� �,�/�!��(� �%,� ,1��� 

9(8�� ,1��������!��0�6,�(.�0���1��+� �����&�� ��%����� � ���� =−+ LL �� 
�����

1��!&��#�y(x)�%�2�� �� �1��!����1�����&�/��#.�)��$�6��%,��$���3���2��� 

����������������

����������������

����

���

���

NMPPPPPMPMP

NMPPMM
NM

MP
P

N

����������

����������
�

����

++−+

++−+
+

= −−−−−
−−−−−

=

=≈

∑
 (6.3) 

:��%,��� ����
�� ����
� %�2��� 1�"��", ���� '�#� /�+,(, y(x)� ��� ���&� ��� 

[ NMM �� +� ��� ��&� ��)����+,� ��!��"���  ���� 1��&1/&!,$��� /����1,� /�!��(� �3��  ,1���

���&�/��#.�0� M� : ���� �+∈ MM ���  

��%,�� /&�&'� ��%� #(�  �(���"�� , ���� ���&�/��#.�)��� 6��%,���� �&��*�'���

1��)��� ��%&�� /�!��(� �3��  ,1��� ���&�/��#.�0�� �%� ,�  ����,� %�2��� 1����1����

��"�,/��%�!���%� 







−=<≤
>−
<

=

+

−

������
����

��

���

�

�

�������

����

��

�

LL

NQ  

��"&�&'� �8� ML�.&)�/�+,(�%�2&�1��&1/&!����/�"��'� ��"���'�)� 

jv = find( xt<x ); 

if  isempty( jv ),  j=1; 

   else  j = max( jv ); 

end 

'&�xt –���3,%&��������!��0�6,�(.�0�� &(���
� 

 x –���!(�����&�/��$ ���#� 

�� �&*��!��*� ��1��*,�(�*� 1 �!�)��� 1�"��"� ,$��� ����)�,� ���� ( �'����!�,�

���&�/��#.�$�� �� ��(�%,�  �/�'(,� 6��%,��� ����
� ��� ����
� /��)%�$��� ��"�,/��)�

 �3�#'�� 
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/��� k=1 
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/���k=2  

��
�



���
������

���� MMMMMM ���
��

�������� +−−+−+=≈ +++  (6.6) 
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+
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 (6.7) 

:��%,������

��������
�# �#$���"���$��� �#��#�/�#%�0��#(��/��*�'����!&�&1�

��!(�� ( )������� ++ MMMM ���� �� �� ����
� ��� ����
� -� �� �#��#� ( �'����!��0� /��������� #(��

/��*�'����!&�&1���!(��( ) ( ) ( )������ ���� ++++ MMMMMM ������  

��#� ���&�/��$ ���#� �����!��0� 6,�(.�0�  � /�(&��� ML  �(���"�� ,$��"#�

interp1, interp2, icubic, splin�����'&#(����+�� 

Y=interp1(Xt, Yt, X, metod),  

Yt(Xt) – �����!���6,�(.�#� 

X –���!(������%�"� ���!�(��,�#(�*��&��*�'�����!�"�����1��!&��#����&�/��$$!�0�

6,�(.�0� 

metod – %&��'����&�/��$ ���#��%�2&�/��)%������"�,/���1��!&��#� 

‘linear’ – ����)������&�/��#.�#� 

‘cubic’ – (,��!������&�/��#.�#� 

‘spline’ – (,��!���"/��)�-���&�/��#.�# 

'nearest' –� ���&�/��#.�#� 1�� ��)���2!�%� ","�'��%�  ,1��%� ��"�,-� /�!���$!�� 1� 

ML5.3 ). 

Y=icubic(Xt, Yt, X) – (,��!������&�/��#.�#� 

Y=spline(Xt, Yt, X) – (,��!���"/��)�-���&�/��#.�#� 

(6.4) 
 
(6.5) 
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������� '���# 

	�1��*, ���� /�����1��� 1��!&��#� �����!��*�6,�(.�)�� #(�� 1� '���� ,� �����.��

�����'�#���3,%&��� ��(�����1%��$$��"#� �'�xmin�'��xmax� �������!(�*� 

�����&��'�!����&(�%&�'�.�0 

4�"�#�/�+,(,���%&���/�!��(� �3�� ,1������&�/��#.�0�/&�& ���&�,%� ,� � � �= . 

4���00� �(��������&  �(���"�� ,)�&����&�/��#.�)�,�6��%,�,����1��*�'��&�1��!&��#�

�&1/�"&�&'�����1������.��� �� L�� = . 

��#� 3��6�!��0� /&�& ��(��  � &'���� ��� &(���� ,� 3��6�!��%,� �&2�%�� �����!�,�

6,�(.�$���00����&�/���� ����1��!&��#�,���1��)�6��%��!����1��%�(������%����/��(��'��

6,�(.�$� � &'�������&(����,� �3�#'���1���(��������&�/���� ����1��!&��#�–�,� �3�#'��

 �'��1(� �/�#%�*�%�2�' �%��","�'��%����!(�%�� 

������ %&��'�� ���&�/��$ ���#� ��3���1, ���� ,�  �3�#'�� %&�$�� ��#� .��3��

 �(���"�, ����6,�(.�$�ML menu. 

 

���������������������� 

������;��;��4�	��;��	��	�5�;��;�������� 

 
����� �������� �� !���"#� �/�", ���� �����!���6,�(.�0� �������!��%���&����)-

��%�� ���1�%�� 

�����&��&��!��� �'�%�"�� 

�/��("�%�.�$������!��0�6,�(.�0�yi=f(xi), i=1, 2, … , n %&��'�%���)%&��+�*�

( �'���� ���1� �$����&3�&"�)��%������1�%� 

����)��)��&3�&"�)��)������1�/��#3�-�,� �1��!&����/����(�&6�.�-��� �C1 ��C2 

����)��0�1��&2��"��� 

P1(x)=C1x+C2 , (7.1) 

#(�� 1��&1/&!,-� �/��("�%�.�$� 1� '���0� �����!��0� 6,�(.�0� yi=f(xi) %&��'�%�

��)%&��+�*�( �'���� � 

�&����)��� /����� �&3�&"�#� /��#3�-� ,�  �1��!&���� /���� (�&6�.�-��� � d1 �� d2 
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�&����)��0� �'��"���1%����0�x��/��("�%,$!�0�6,�(.�0� 

ya(x)=F(x, d1, d2) . (7.2) 

�&����)�,� /���,� �&3�&"�$� %�2��� 1 &"��� '�� ����)��0� /����0� 1�� '�/�%�3�$�

�������1,$!�*�/&�&� ��&���6,�(.�0�ya(x). 

	�13�#�&%��/��(��'� 

����������!���6,�(.�#�Y(X): 

X=[0, 0.5, 1, 2, 3]; Y=[0, 1, 1.67, 2.5, 5]. 

��'�%���8��  ���� '�"������� ��!��� �/��("�%,-��"#�  ���1�%�
��

��
��D +

=
�

��� . 

4�"�#�/&�&� ��&���� 

( ) ��

�

�

� ���

���

�

��

��

��D

+⋅=+= . (7.3) 

���� �#��#�����
���!�%���8��6,�(.�#� D��� �����)��� �'��"���1%����0� ��� . 

4�1��!�%��� �
�

������
�

���
�

�

�

�

�
�

�
�

�

�
�

�
�

�
�

e

D

e
==== �4�"�#�/�'"���� (�� ,� �� �#��#�

����
�%�-%��� ���� �����
eee

+= . 

����� ��&���/&�&��*, ���� �*�'�,� �����!�,�6,�(.�$�
L

eL

L

eL
�

�
�

�
�

���
� == ��/���%�

��!�"����� (�&6�.�-���� ����)��0� �&3�&"�0� b1 �� b2�� �� /&�&��*, ���� (�&6�.�-����

�&����)��0��&3�&"�0� ����
�

�

�
�

�

�
�

�
�

�
� ==  

������ '���# 

�/��("�%, ���������!�,�6,�(.�$��8��/�� &'&���,������.��������&����)��$�

6,�(.�-$� yZ(x
��
�!�"����� 1��!&��#�%���%�1,$!�3��6,�(.�����,��4����$"��, ����

�&1,�������3��6�(�%�� 

��*�'���'����� 

n=4;  x1=1;  x2=2;  x3=3,5;  x4=5. 
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�����.#���� 

�� ��� y1 y2 y3 y4 ya(x) 
1,2 0,01 0,013 0,02 0,04 

��� +
�

 

3,4 10,3 5 3 2,4 

�

�
� +  

5,6 0,17 0,18 0,19 0,192 

���

�

+
 

7,8 2 4 11 31 [��  

9,10 7,4 53 1040 20300 E[��  

11,12 3 5 10 20 E[���  

13,14 2,1 4,2 7,7 9,3 
[��� −+

�
 

15,16 1 4 12 25 E��  

17,18 1 1,6 2,1 2,4 ������� +  

19,20 1 2,4 3,5 4,2 ������� +  

21,22 3,3 2,5 1,8 1,4 

��

�

+
 

23,24 3,33 5 6,36 7,14 

��

��

+
 

25,26 74 27 17 15 
[

E

��  

27,28 500 50 19 13 
[

E

���  
29,30 2,1 2,38 2,65 3,12 Q��� +  

���������������������� 

��5��<�� ������	�����9 

����� �������� �� !���"#� ��!�"�$ ���� ��� �
��  �1��!&�� ���&3�����  �'�

6,�(.�)��#(��1� '���������!���)��������!���� 

�����&��&��!��� �'�%�"��� 

�� '���#�� ,� #(�*�/�������� ��!�"�&��#� ���&3���� �� 1	# �#$��"#�/��(��!���,�
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 "�*� 3��,1#*� /��(��'��0�%��&%���(�����"&�����%&��'�� ���&3�, ���#� 1��"�� �������

��%,��8�� ���&� ��� �a, b�� ��1'����$$��� ��� !�"�(��� ��� (�2��)� 1� (����*� (�� ��� #(��

�/�",-��"#�/�'���&3������$�6,�(.�-$�f(x
��1�%��$-��"#�#(�$"����+�$�(�� �$��'�#�

#(�0���!�"�&��#����&3���,�,� ��$-��"#�1��'�"�������/��"��%��6��%,��%�����/���%�

,"��/��8��"(��'�$��"#���1�%�� 

��  �/�'(,� 1�%���� /�'���&3������0� 6,�(.�0 ���&�/��$$!�%�� /�����%�%��

����%,$�����(�1 ����( �'���,����6��%,�������6��%,���'�#��� �� �''��&��*� ,1�� �

���&�/��#.�0���1� �$���6��%,��%����$����-���&"�� 

�� 1��&2��"���  �'� ���&�/��$$!�3�� /�����%�� ��1��1�#$��� %&��'��

/�#%�(,���(� �����/&.�)����( �'����!��*����/&.�)��!��%&��'�5�%/"���� 


"�� ��� 6��%,��� ��� /�(�1��(��� 8�� *���(�&��1,$��� .�� %&��'�� /���

��1'����&��� ���&� ��,� ���&3�, ���#� ��� �� ��� !�"������ ��'���� ,� �����.�� ����� '&�

/��)�#�����"�,/���/�1��!&��#� 

n -�(���(�"���!�"��(���1'����&��#�� 

��������

������
�������

������	
�������������

��

�

�
��
�����

���
�

�����
�

��
���

QQ

LL

LL

====
==

=−=−= −

 (8.1) 

4�*��(�� %&��'� �  �1��!�-��"#� ��1%���%� ���&3���,�  �'� �"������3�� !�&���

���&�/��/�����%,����6��%,��*�'�#��.��(��/�*��(��Mi -�%�("�%����&�1��!&��#� �-�0�

/�*�'��0 
��

�
L

L
[I �� �������&� ��� [a, b], k – /��#'�(����&�/��$$!�3��/�����%�� 

�����.# 8.1 

��1 � 
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4���  �(���"������ %&��',� 5�%/"���� (���(�"��� !�"��(� ��1'����&��#�

��� 	#1(� �� /� ����� �,��� /����$� �n=2k) ��  "�� !�"�(�� /� ����� �,��� �'��(� �%��

(h=const
�� �� ��1�� �&�� ��%����3�� ��1'����&��#� ���&� ���� ���&3�, ���#�

 �(���"�� ,$���,�����+�"��� �/�'(� �%&��'��/�#%�(,���(� �������/&.�)��'�#�#(�*�

6��%,���!�"&����3�����&3�, ���#�,�.��%,���1��/��'��$��� �3�#'�� 

∑∫
−

=
+ −=

�

�
�

Q

L
LLL

E

D

	
��	�

 ���  (8.2) 

 –�'�#�%&��'��/�#%�(,���(� � 

∑∫
−

=
+

+ −
+

=
�

�
�

�
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LL
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D

	

	


��	�

 ��
��

 (8.3) 

 –�'�#�%&��'�����/&.�)� 

��#� 1��&1/&!&��#� 1�'���0� ��!��"�� ���&3�, ���#� !�"���  �(���"�� ,$���

��3����%�1�� ��%���!��%� �����%�(��(,�����
��,�#(�%,� �(���"�� ,$�����"�,/��)�

1�"����
�!�"�$$��� 1��!&��#� ���&3���,� 1��'�/�%�3�$��'��3��1���'����*�%&��'� �1�

'&#(�%�/�!��(� �%�(��(�% h�� ��/���%�/� ���$$���.��2�"�%����!�"�&��#� 1�,' �!��

%&��+�%�(��(�%�h/���9(8�� �)'&���(��8� 

( ) ε≤− 
��� ���� , (8.4) 

'&� ε -� '�/,"��%��/�*��(�� ���&3�, ���#�� ��� ��!�"�$ �����)�/��.&"� 1�(��!,$���� ,�

/�����&2��%,� �/�'(,�1 &���$��"#�'��/�'���+�3����1'����&��#�(��(,� 


'&�2��&���(�%�!���%�/�����1�&�1��!&��#����&3�����%�2���,��!������#(8��

 �(���"�� , ����&("���/��#.�)��)�/&�&*�'�'��%&2��1�/��/��� ���)�	�!��'"���%� 

( ) ( )
�


��
�

�

−
−+≈

N

����
��� , (8.5) 

'&�  k=�� ��'�#�%&��',�/�#%�(,���(� �� k=�� ��'�#�%&��',����/&.�)��k=
� ��'�#�%&��',�

5�%/"���� 

��#� ��!�"�&��#�  �1��!���3�� ���&3���,� ,� /�(&��� ML  �(���"�� ,$��"#�

6,�(.�0�quad, quad8, trapz, cumtrapz. 

[z,n]=quad(Fun, a, b, tol, trace, p1...p9) – ��!�"�$-� ���&3���� z��&(,�"� ��%�

%&��'�%�5�%/"����1�����������&� ����[a,b] 1���!��"�$�tol; 
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n – (���(�"��� ��!�(�� ,� #(�*� ��!�"�$-��"#� 1��!&��#� ���&3���,� ��&��′#1(� �)�

/���%&��
� 

Fun – �%′#�m-6�)����,�#(�%,�%�"����"#��/�"�/�'���&3������0�6,�(.�0�f(x); 

trace –  %�(���#/ �%�(���#� ��/0
�  � &'&��#���� 3��6�(� 1��!&��� ���&3���,� ,�  "�*�

��!(�*���!�"�&��#; 

p1..p9 – '�'��(� ��/���%&����� �(���"�� ,$��"#�#(8��/�'���&3�������6,�(.�#�%�-�

����+��'��3����3,%&��,�f(x, p1...p9);  

tol, trace, p1…p9 - �&��� ′#1(� ����3,%&���� 

[z,n]=quad8(Fun, a, b, tol, trace, pl...p9)-� ��!�"�$-� ���&3���� z ��� �"�� ��

���&�/��#.�)��0�6��%,�����$����-���&"���-3��/��#'(,�1����� 

z=trapz(X, Y) – ��!�"�$-� ���&3���� z� 6,�(.�0� Y(X
�� #(�� 1� '���� �����!����

%&��'�%����/&.�)� 

X –  &(������3,%&��� � 

Y–� &(��������%����.#�1��!&���/�'���&3������0�6,�(.�0� 

9(8����3,%&���X  �'",���)�–����6,�(.�#�Y�1� '����,���!(�*��, 2, 3,…, n. 

z=cumtrapz(x,y) – ��!�"�$-� &(�������&3���� � ∫=
ix

x
i dxxyz

1

)( �6,�(.�0�Y(X), #(��

1� '���������!����%&��'�%����/&.�)��X, Y, Z – �'��(� �3����1%��,��i=1,2,… 
��ML��(��%���!�"�&��#� �1��!&��3�����&3���,�%�2�������%����6��%,���'�#�

�& �1��!&��3�����&3���,� �(���"�� ,$!���//�����"�% �����0�%��&%���(���6,�(.�#�

int
����&�/�/&�+&���&���1�# ����"�% ������1%����� 

         syms   var_s1  var_s2  var_s3   . . .    var_sN 
Z_s=int(fun) (8.6) 
Z_s=int(fun, var_s) (8.7) 
Z_s=int(fun, A_s, B_s) (8.8) 
Z_s=int(fun, var_s, A_s, B_s) (8.9) 

Z_s – 6��%,���'�#��& �1��!&��3������-���
����� �1��!&��3������-���
����&3���� �,�

"�% �����%,� �3'#'�� 

fun –�/�'���&3�������6,�(.�#������%	#��–6�)���,�#(�%,� ����1��*�'���"#� 

var_s –�1%������1��#(�$� �'�, �-��"#����&3�, ���#� 

A_s, B_s –�%&2�����&� ��,����&3�, ���#� 
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��/��(��'� syms  xs  as 

 zs=int(sin(xs*as), xs) 


���%�-%�� zs=-1/as*cos(xs*as) 

��#� ��3��� 8��� ��!�"����� 1��!&��#�  �1��!&��3�� ���&3���,� 1�� "�% �����$�

6��%,��$��"�,-�6,�(.�#�/�'"���� (��subs. 

Z=subs(fun, var_s, var) 

fun – "�% �����)� ���1��1��#(�%���&�����1��*� , ���� 

var_s –�/&�&��(�"�% �����*�1%����*��1�%�"���#(�*��,',���/�'"�� �#��"#�1%�����var 

,� ���1�fun (var_s, var –�"��,(�,�������%�"� 
� 

��/��(��'� syms  xs  cs  as  bs 
 zs=int(sin(xs*cs), xs, as, bs) 

���%�-%�� zs=(-cos(bs*cs)+cos(as*cs))/cs 
 
 z=subs(zs, {as, bs, cs}, {0, 1, 2}) 

���%�-%�� z=0.7081 

������ '���#� 

��#� ��'���0� ,� �����.�� ���� 6,�(.�0� f(x) ��!�"�����  �1��!&��)� ���&3����

∫=
E

D

���
� �� �1���!��"�$�ε%&��'�%��5�%/"���������$����-���&"���-3��/��#'(,� 

�� &"��� ��� &(����6��%,��� '�#� �& �1��!&��3�� ���  �1��!&��3�� ���&3���� � ,�

"�% �����%,�  �3�#'��� 	�1��*, ���� 1��!&��#�  �1��!&��3�� ���&3���,� +�#*�%�

/�'"���� (��  /���%&���  ���� /��� �#�� �)�3� �1� ����%���%� ����+&  z.  ���#�  .�-0�  2� 

/�'���&3������0�6,�(.�0���!�"����� &(�������&3���� � ∫=
LF

D

L ���
� ��� �'&��� 1%��$-��"#�

 �'� a� '�� b 1� (��(�%�

�

��
�

−= �� ��#�  �1,�����3�� (������$� �&1,�����,� /��,', ����

3��6�(�6,�(.�0�f(x)�����&"���������3������$�
ab

z
f cp −

= �����/��,', ����3��6�(�z(c). 

	�1��*, �����1��!&��#�����&3���,�� ∫=
E

D

���
� �� ��/������1��)��(���(�"���!�"��(� 

��1'����&��#����&� ��,����&3�, ���#�n = 4, 16, 32, 64 %&��'�%����/&.�)�����%&��'�%�

/�#%�(,���(� ��1��1� '���#%� �(��'�!�
��
.��, ���� /�� �/���%&����n ���1��!&��#�

���&3���,� 
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�����.#���� 

��

 ��� 
ε f(x) a b 4���%&��� 

1 −510  

2 −310  ( ) ( )ϕ⋅+ ���� �� �

�
 

0 π ϕ=0.182 

3 −410  

4 −210  ����

��

���� �

���
����

�

[[

[

�� +
 0 π/2 c=0.953 

d=2.295 

5 −610  

6 −310  ��� ��

�

+
 0 1 c=3.18 

d=-1.37 

7 −210  

8 −410  
( ) ( )���P ⋅⋅������  0 π/2 m=3 

9 −510  

10 −310  ��

�
��

�

−
 0 1 c=1.21 

11 −210  

12 −410  ������� ��

�

���� +
 

0 π/2 c=8.53 
d=0.524 

13 −510  

14 −310  ��

�
��

�

+
 0 1 c=0.732 

15 −410  

16 −210  �� �����


�

����� +−
 0 π c=3.76 

d=8.39 

17 −610  

18 −310  ���� ��

�� F[

+
⋅

 
0 1 c=4.18 

19 −210  

20 −410  ��

[

�� +
 0 1 c=0.874 

21 −510  

22 −310  �

 �
�

���� +  1 2 c=2, 

��
��

 +=  

23 −210  

24 −410  
sin(ln(x)) 1 5  

25 −510  

26 −310  ( )�� � ��

�

⋅−
 0 π/2 c=0.5 

27 −510  

28 −410  ��� ���

�

⋅+
 

0 1 c=2.15 
d=-1.3 

29 −510  

30 −410  
cos(lg(x)) 2 15  
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���������������������� 

��	�
�����;�������������5�������4�	�
�����
��:�����; 

 

��������������� !���"#� �1��!����3��%���!��)�"(��'�/&���'�!��*�6,�(.�)� 

�����&��&��!��� �'�%�"�� 

:,�(.�#�!�",�f(t
���1� �-��"#�/&���'�!��$��#(8��'�#��&0�"/�� &'�� ��,%� �� 

f(t)=f(t+mT),  m=1, 2, 3, ... , (9.1) 

'&�T  -�/&���'� 

���%���!��)������1�/&���'�!��*�6,�(.�)�/��#3�-�,� �1��!&����(�&6�.�-�-�� �

a0, ak , bk ��#',�:,��-� 

���� ��������



��
�

� ∑
∞

=
ω+ω+=

N
NN ������

�
�
   (9.2) 

'&�ω =2π/T -�(�,3� ��!�"�����/&�+�0�3��%���(�� 

k -�/��#'(� �)���%&��3��%���(�� 


�%&2� +�"�� ,� 6��%,��� ����
� '&#(�$� (��.& �$� (���(�"�$� 3��%���(� m, 

�'&�2,$����/��("�%,$!�)�3��%���!��)�/�����%�Qm(t): 

���� ��������



����
�

� ∑
=

ω+ω+=≈
P

N
NNP ������

�
�!�
  (9.4) 

��&6�.�-����:,��-� �1��!�$��"#�1��6��%,��%�� 

∫

∫

ω=

ω=

7

N

7

N

�����

"

�

�����

"

�

�

�

��� ����



��������



 (9.5) 

��(���"�� ,$!�� '�#� !�"&����3�� ���&3�, ���#�  � 6��%,��*� ����
� 1�"���

/�#%�(,���(� �/�����1���8&���� ���&� ���� ���&3�, ���#� ��,T�����n��� ��*� �'��1(� ��

�'&�2�%�� 
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













π≈

π≈

≈

∑

∑

∑

−

=

−

=

−

=

�



� �



�



���



�



�

�

�

�

�

�
�

Q

L
LN

Q

L
LN

Q

L
L

�

��
�

�
�

�

��
�

�
�

�
�

�

 (9.6) 

k=1, 2, ... , m ;  

yi= f( ti ); 

t= i∆t; 

�
�

"
� =∆  

4���n=2k 6,�(.�#�Qm(t
�"��-����3���%&���!��%����&�/��#���%� 

���%���!��%� "���&1�%� ��1� �-��"#� �'&�2���#� /&���'�!��0� 6,�(.�0� Qm(t) 

+�#*�%�/�'",%, ���#�00�3��%���!��*�"(��'� �*�1��6��%,��$��9.4). 

������ '���# 


�!�"����� (�&6�.�-���� ���3���%&���!��3�� /�����%��� #(�)� �/��("�%,-�

�����!�,�6,�(.�$� �1� �����.�� ����� /��� ��1��)� (���(�"��� 3��%���(�m=3, mo, mo+4 ���

/���*, ����)�3��1��!&��#�(mo – �/��%������(���(�"���3��%���(��mo=(n-1)/2). 

4��,', ���� ��1��%� (������%� 3��6�(�� ���&�/��$$!�0� 6,�(.�0� �� ���&"���

 �*�'�,������!�,�6,�(.�$�,� �3�#'��1���(� 

�����&��'�!����&(�%&�'�.�0 

��''������ ��(�&%��6,�(.�0���!�"�&��#�(�&6�.�-��� � �����1��*,��(� 1��!&���

�/��("�%$!�3��/�����%�� 

4��"�&2�����#(� /�� �-�(���(�"���3��%���(�m�/���1� '���)�(���(�"��� �'��1(� �

��1���8&��# n������!��"����/��("�%�.�0� 

��#����!��"���8�����"�����!�(����3��6�(,��/��("�%,$!�0�6,�(.�0�/� ����� �

5-10���1�/&�& �8, ����8�����"��� ��!�(��8����1���8,$���/&���'�T ��� �'��1(��'�#�

!�"&����3�����&3�, ���#� 
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����������� 
� 
	�
� 

�������
���������������
� 

1 2 
1 1,00  1,803  3,085  4,776  6,434  7,347  7,027  5,652  3,897  2,381  1,347  0,422  0,419  0,256  0,176  0,142  0,136  

0,155  0,209  0,324  0,554  1,00 
2 7,38  6,76  5,22  3,47  2,07  1,16  0,64  0,36  0,23  0,16  0,13  0,13  0,16  0,23  0,37  0,64  1,16  2,08  3,48  5,22  6,76  

7,38 
3 -1,24  -1,17  -1,08  -0,96  -0,84  -0,79  -0,8  -0,9  -1,1  -1,21  -1,02  -1,28  -1,32  -1,34  -1,36  -1,37  -1,37  -1,36  -1,35  

-1,33  -1,30  -1,24 
4 -3,0  -3,58  -4,12  -4,56  -4,86  -4,99  -4,94  -4,73  -4,36  -3,86  -3,30  -2,7  -2,13  -1,64  -1,26  -1,05  -1,00  -1,13   

-1,43  -1,87  -2,43  -3,0 
5 1,0  1,05  90,6  520,4  1714,7  2915,0  2439,2  1020,6  230,7  32,17  3,29  0,3  0,03  0,004  0,001  0,0003  0,0006  

0,002  0,01  0,09  0,9  1,0 
6 2980,1  2089,3  742,4  146,6  18,6  1,8  0,16  0,02  0,003  0,001  0,001  0,001  0,002  0,003  0,018  0,9  1,22  18,6  

146,6  742,5  2089,7  2980,1 
7 1  1,34  1,75  2,18  2,53  2,71  2,65  2,37  1,97  1,54  1,16  0,86  0,64  0,5  0,42  0,37  0,36  0,39  0,45  0,56  0,74  1 
8 2,71  2,6  2,28  1,86  1,44  1,07  0,8  0,46  0,42  0,4  0,37  0,37  0,4  0,48  0,6  0,8  1,07  1,44  1,86  2,28  2,6  2,71 
9 -1,32  -1,28  -1,26  -1,24  -1,25  -1,25  -1,25  -1,26  -1,27  -1,29  -1,29  -1,33  -1,34  -1,37  -1,37  -1,37  -1,37  -1,36   

-1,36  -1,35  -1,34  -1,32 
10 -4,0  -4,2  -4,5  -4,7  -4,9  -5,0  -4,9  -4,8  -4,6  -4,4  -4,1  -3,8  -3,5  -3,1  -3,0  -3,0  -3,0  -3,1  -3,2  -3,4  -3,7  -4,0 
11 1,0  2,4  5,4  10,4  16,3  19,9  18,6  13,4  7,7  3,6  1,6  0,64  0,27  0,13  0,07  0,05  0,05  0,06  0,09  0,18  0,4  1,0 
12 20,0  17,5  11,9  6,4  2,9  1,2  0,5  0,2  0,1  0,06  0,05  0,05  0,06  0,1  0,5  1,0  1,2  2,9  6,4  11,9  17,5  20,0 
13 -1,1  -0,8  -0,3  0,3  0,7  0,8  0,7  0,5  0,04  -0,6  -0,9  -1,1  -1,27  -1,32  -1,35  -1,37  -1,37  -1,36  -1,34  -1,3  -1,2   

-1,1 
14 -2,0  -2,8  -3,7  -4,3  -4,7  -4,9  -4,9  -4,5  -4,1  -3,3  -2,4  -1,5  -0,6  -0,04  0,6  0,02  0,99  0,79  0,34  0,3  -1,1  -2,0 
15 1,1  3,2  9,5  22,8  41,4  53,9  49,4  31,9  15,2  5,7  1,8  0,55  0,17  0,06  0,03  0,02  0,01  0,02  0,04  0,1  0,3  1,1 
16 -0,78  -1,22  -1,34  -1,39  -1,42  -1,43  -1,42  -1,41  -1,37  -1,3  -1,1  -0,1  1,1  1,2  1,33  1,36  1,37  1,35  1,3  1,17  

0,65 –0,78 
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�
���	������������
���� 
1 2 

17 54,5  45,7  21,2  12,1  4,3  1,3  0,4  0,13  0,05  0,03  0,02  0,02  0,03  0,05  0,13  0,41  1,3  4,3  12,1  21,2  45,7  54,5 
18 -0,78  0,18  0,89  1,13  1,21  1,24  1,23  1,18  1,04  0,63  -0,38  -1,01  -1,22  -1,3  -1,35  -1,36  -1,37  -1,36  -1,33  -

1,27  -1,1  -0,78 
19 -1,0  2,1  -3,2  -4,1  -4,7  -4,9  -4,8  -4,4  -3,7  -2,7  -1,6  -0,4  0,7  1,7  2,4  2,9  3,0  2,7  2,1  1,2  0,2  -1,0 
20 1,0  4,36  16,7  49,8  105,0  146,3  130,9  75,9  30,0  8,75  2,1  0,47  0,11  0,03  0,01  0,007  0,006  0,009  0,02  0,05  

0,2  1,0 
21 148,4  118,8  62,6  22,5  6,21  1,45  0,33  0,08  0,02  0,01  0,007  0,007  0,01  0,02  0,08  0,32  1,45  6,2  22,6  62,2  

119,0  148,4 
22 0,0  0,97  1,23  1,32  1,36  1,37  1,36  1,34  1,28  1,13  0,64  -0,64  -1,13  -1,28   

-1,34  -1,37  -1,36  -1,32  -1,23  -0,9  -0,2  0,0 
23 -0,0001  -1,47  -2,8  -3,9  -4,65  -4,98  -4,87  -4,33  -3,4  -2,16  -0,74  0,74  2,17  3,14  4,33  4,87  4,98  4,65  3,9  2,8  

1,4  -0,0001 
24 1,0  5,8  29,3  108,9  266,4  396,7  347,1  180,5  59,2  13,5  2,4  0,4  0,07  0,01   

0,005  0,003  0,002  0,004  0,009  0,03  0,1  1,0 
25 403,4  309,0  142,2  42,1  8,9  1,56  0,26  0,05  0,01  0,0044  0,0026  0,0026  0,0044  0,01  0,05  0,263  1,56  8,95  

42,1  142,2  309,9  403,4 
26 0,78  1,22  1,34  1,39  1,42  1,43  1,42  1,41  1,37  1,3  1,1  0,1  -1,1  -1,2  -1,33  -1,36  -1,37  -1,35  -1,3  -1,17  -0,65  

0,78 
27 1,0  -0,77  -2,3  -3,6  -4,6  -4,9  -4,8  -4,1  -3,1  -1,6  0,1  1,9  3,6  5,1  6,2  6,84  6,98  6,58  5,69  4,4  2,7  1,0 
28 1,0  7,8  51,5  238,1  675,9  1075,4  920,1  429,3  110,8  20,8  2,83  0,35  0,04  0,01  0,002  0,001  0,001  0,001  0,004  

0,02  0,12  1,0 
29 1,10  1,32  1,40  1,43  1,45  1,46  1,46  1,44  1,42  1,37  1,25  0,76  -0,8  -1,22  -1,33  -1,36  -1,37  -1,35  -1,29  -1,1  -

0,1  1,10 
30 2,0  -0,06  -1,9  -3,4  -4,9  -4,8  -4,0  -2,7  -1,1  0,95  3,0  5,0  6,7  8,1  8,8  8,9  8,5  7,47  5,94  4,06  2,1  2,0 
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����� ���������������� � ����!"��������#����$��$#��%�$�� &����'��� ����'���

%�(#�#�)�'������� �� �&�*����+���$��"$���$�����,-�����#$�� 

�����.#��#��������%�$���� 

��!#�� � %�(#�#�)�'��-� ���� ��� �+��%�/� ("�%�$#��� $��#$������0��

$�%#�1���� ���&��-�*������,���*��)#���������#$����#�#+����#-��)�����*�-�%��-���%�

�#,�%��)�*����-���!#�� �%�(#�#�)�'��-����� �����+�������"1���*�����&��-"�+�-�

*#�#-�%��-�*��)#����� 

2����'�#�%�(#�#�)�'�#����� �� � n-0��*�� %+"�$�/���0� %�� 

������������ ����� =Q������  (10.1) 

%#� �  -��#&��#3���&$����� 

����  -��#��%�$��("�+)� ��#&��#3��,�&$����,� 

��

��
�� =��� , 

�

�����
��

��
�� = , 

Q
QQ

��

��
�� =����  -�,,�*�-�%��� 

�� � ��&���#�� ���������0�� ��!#�� � ���� �� � 	����
�*��������"�����%�$�� n 

*����+���-�"$��� 

���������������
���

��
���

����
−− === QQ ���������  (10.2) 

	��#���#� ��!#�� � %�(#�#�)�'��0�� ���� �� � *�� 0�/� "� ��&���#���� �����)��

&���#��� �� LL ��  ������������ �� = � ��� %# +�$"� ���#������ 	�
 � N�� �� ��&��)1� $�3� %��$��

�"��%��$����������$��&���#�� $����0"$#������&���1���+��+�$����#0�"���� � 

�� LL ��� −= +  (10.3) 

��� ������ ��'����!� ��&*���1%3#��-� ���#����-� $#��%��� ��!#�� �

%�(#�#�)�'��-����� ������#3����$#��%���"�0#-4"���� 

5#��%���"�0#-4"����"&0�%3"1��� �&���&+��%�$�("�+)�,� ���� �"�� %�.#'�����

���+�������+�� � � ��3�%����#�����6��$��� ���"�������� : 
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S
S

LLLL �
�

�
�

�
���� ⋅++⋅+⋅+≈+  (10.4) 

7�+�&��+���"*��1 �  *��� ������������$"�*�%�"$�����$"���#���� %��.#'�����

��&����/�*�� %�+�$#��%"� 

5#��%� �"�0#-4"��� *#�!�0�� *�� %+"� ��&���1��� $#��%�$� �'�#���� %�"0�0��

*�� %+"� -� $�%�(�+�����$� $#��%�$� �'�#���� ���� $#��%�$� �'�#��-4�!��� 5#��%��

����!�����+�-�*�� %+����#�$�1����*#)������-���&�� 

�� � ��+�������� �$#��%��� �"�0#-4"���� �#��-�%��� *����+��#� %�(#�#�)�'�#�

���� �� �	����
�*#�#��������"�����#$"� 	�%�(#�#�)�'��-����� ���*#�!�0��*�� %+"�"�

���$�����'�(��$��4�!�� 











=

=
=

����������

����������

����������

��
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QQQ

Q

Q

����
�

����
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����
�

�

 (10.5) 

������������� ���������� QQ ��������� ===  (10.6) 

����"��#+�����'�(��$�� 

Y��F(x, Y), Y(x0)=Y0. 

��*�$�3�� &$���� 
Q
���������

��
 �� ,- *����+��� "$��� " *��)#�� *#�#����#��  

�%��&����� &�’ &"1���  & �#��%�$�1 ("�+)�/1 �  ���,,�*�-�%��$�� 

��%*���%��� %�� $#��%�� �'�#��� �%��� +��+� ��!#�� � ����#$�� %�(#�#�)�'��-�

���� ���	����
�&�*����+���$��"$���$��	���

���+��"/��� �&��(��$"��1� 

�������������� �� QLLL ����
������ ⋅+=+  (10.7) 

��������� 	� =  

5#��%��'�#��-4�!��*���#�"/�������#�� ��#+�����*�-�%��-� 	*����-��������

%�(#�#�)�'��-����� ��
�F(x, Y
�"�%��-����+�-� 





⋅+⋅+⋅++=
=

);...,,,,(

),...,,,,(

11221112

211

nnii

nii

khykhykhyhxfk

yyyxfk
 (10.8) 

���
�

���� �� LLLL ��
�

����� +⋅+=+  (10.9) 
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��%*���%��� %�� ��+�����"���� � $#��%�� �"�0#-4"���� �#��#���0�� *�� %+"�

�#+����*�-�%��-����+�3��$"�+��)�����#����0�� ���#0�"���� �������1/��� ��������

��&��� 














++=

++=

++=

=

������
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���
�
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�
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������
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�
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�
�
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 (10.10) 

����



���� ���� ������ ++++=+ �
���  (10.11) 

8�����#�� � &�� ���#%#��$�� ����!#�(��$"��$�� *��%��3"1��� %�� ��0�� ���"��

%�+���#��"%#�%�� 0�"��+��#)�����#������[ ]
N
���

�
. 

7�-��+��$#��%����"�0#-4"������&����/��� �����&�$� 

ε ≈ ⋅� ��. 

2���#�� �+�#(�)�/����k�&��#3������%�����!"/$�,�����#$�� 

�� ���!#�� �%�(#�#�)�'��-����� ���"�*�+#���ML ��+�������"1��� �����"*���

("�+)�,��ode23, ode45, ode113, ode15s, ode23s, ode23t, ode23tb. 

[t,Y]=ode23(‘Fun’, Tspan, Y0, Options, p1, p2, … ) – ����!"/� ����#$"�

&����'��-�%�(#�#�)�'��-����� ���&���+�������� $�(��$"���"�0#-4"����%�"0�0�����

��#���0��*�� %+"� 

[t,Y] –�#+������ +��$��� �����!#�� �	t – ���� Y – &���#�� ���-�%��-�&$����-
� 

Fun – �$' � m-(�'���� "�  +�$"� $������� � �*��� ����#$�� %�(#�#�)�'��-� ���� ���

Fun(t,Y) (DY�*����#���"����#+���-����*#)�
� 

Tspan=[T0  Tfinal] – *����+���'� ��� +��)#��'� ���� %�(#�#�)1���� � 	�0 – 

�#����� &+���'�*���$#��
� 

Y0 – �#+����*����+���-�"$��� 

Options –��#+�����*)�'�� +��+#�"1���*��)#��$�������#�� ��������%"��#&"���������

7��0� �"��� *#�#��+� ��������#��-� &���#��� �*)�'� $�3��� &�� %�*�$�0�1� ("�+)�,�

odeset�� �+6�� ��#��� &$������ &���#�� � �*)�,�� ��*��+��%� �����1��"� ����������

�#��-�%�����+����������"*���%�,� 
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Opt=odeset(‘AbsTol’, ‘1e-8’); 

[t,Y]=(‘Fun’, [T0 Tfinal], Y0, Opt); 

p1, p2, … - ��+�������"1���  +6�� ("�+)� � Fun(t, Y, flag, p1, p��� �
� $�������

%�%��+����*���$#���� 

Options, p1, p2, … –��#����� &+����*���$#���� 

[t,Y]=ode45(‘Fun’, Tspan, Y0, Options, p1, p2, … ) – ����!"/� ����#$"�

&����'��-�%�(#�#�)�'��-����� ���&��%�*�$�0�1�(��$"���"��#-4"�����#��#���0�����

*' ��0��*�� %+"� 

�����2��%���  

��&��-"�����*#�#-�%��'�*��)#��"��-#$�-�������"�+"������%� �����-���*�%+��� 

• U=Um–�%3#�#���*����'��,���*�"0�� 

• U=Um���9t –�%3#�#������"���%�����,���*�"0�; 

• *#���%�������*�"0��	��0� %���0���"�������������
��T=0.1 c, T1=0.07 c. 

7���$#�����-#$���%����"������)�������� 

��&��-"�����"����#���&���#�� ���*�"0�����+��%#��������������"$���"�0��+�-�

#�#+������,� �-#$�� ���*����� ��� ,-� &� ����$���$��*��0��$����7��"%"����� 0��(�+��

��*�"0�����+��%#��������������"$���"�0��+�-�#�#+������,��-#$��"�("�+)�,����"� 

.����) ����� 

������ Um��� r���8$ r���8$ 9���
-1 L��:� C��$+� 

1-6 200 50 100 125 0,1 10 
7-12 100 100 120 100 0,2 5 

13-18 300 60 120 75 0,15 15 
19-24 400 150 100 150 0,25 2 
25-30 500 100 200 100 0,05 10 

�����5#��%������#+�$#�%�)�, 

7�&����#�"���-�%��'�����#$������ ��� &��#3��� &$������%��$� �$� $� &���&��$��

��%#+��$��	��*��+��%� �� &
� =  /�� =� ). 

��%���������+�#$"�("�+)�1�������#�� ��#+���"�*�-�%��-� �∂ �*���&�%����-�

&���#�� -�t����Y. 
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7�%�����(��$"���� �*#���%����0����0���"�$�3�����+�������"�����("�+)�1�

rem�	*��#���/������"���%�)������#����0��%��#�� 
����*��+��%�� 

tp=rem(t,T);   ����   U=zeros(size(t)); 

if  tp<T1,  U=Um;     tp=rem(t,T); 

else U=0;       ii=find(tp<T1); 

end        U(ii)=Um; 

4,  10 ,  16 ,  22 ,  28

1,  7 ,  13,  19,  25 2,  8 ,  14,  20,  26 3,  9 ,  15,  21,  27

5,  11 ,  17 ,  23 ,  29 6,  12 ,  18 ,  24 ,  30

Ur2C
L

r1

r2 C

L

r1

r2

C

Lr1

r2

C

L
r1

U U r2

C

Lr1

U

U r2

C

Lr1

U

 

���"��+����� 

Um

T

T 2

T

T 2
−Um

2

Um

2

Um

2

−Um

2

T
T 2

t

t t

Um

T1
T

t

Um

T
t

T
t

Um

1 ,7 ,13 ,19 ,25 2 ,8 ,14 ,20 ,26 3 ,9 ,15 ,21 ,27

5 ,11 ,17 ,23 ,294 ,10 ,16 ,22 ,28 6 ,12 ,18 ,24 ,30
 

���"��+����� 
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��������������������� 

�82�;�<�84��7�������
���7�8�������<�����4.�
	�
��� 

���5;���2;���87858:8=��58���==	8>��7�8:�;5
 

����������7;4�.;� MATLAB 

 

��������������������� �$�%#�1�����*#�#-�%���*��)#���"�#�#+������-��-#$�-�

���#�#%���6��%�%��+��Simulink�*�+#������ 

�����.#��#��������%�$���� 

��%���+�Simulink�*��&���#��'�%� ����"+�"���0��$�%#�1���� ���&��-�����#$�

%�(#�#�)�'��-� ���� ���� ��-�%��$� $��#�����$� %� � )��0�� /� $�%#��� "� ��0� %��

���"+�"���,� �-#$��� ���"+�"��"� �-#$"� ����$"1���  +6�� &�$������ ��$����

%�(#�#�)1���� �
td

d
������$����p�	"�Simulink�*�&����/��� �s).  

7��� �+��%����� ���"+�"���,� �-#$�� &�� %�(#�#�)�'��$�� ���� �� $�� *#�!�$�

��&0� %�/��� � ���� �� � &� +#�"1��$� ��0����$�� 7#�#��+� %# +�-� *�������-� ���+���

Simulink���%���'��������������<��+��+�-�*�&���#����$#�����%*���%��-��������#+� 

 

Sum  
s

1

Integrator  

1

Gain  

simout

To Workspace  Mux  
�"$���� 

(math) 
���#0����� 
(continuous) 

7�%���1��� 
(math) 

��*�$’ �� 
(sinks) 

 

5"����*�#+��� 
(signal&systems) 

1

Constant  Step  
lock  Sine Wave  Pulse

enerator  
4�������� 

(sources) 
�3#�#���

��0���"�

��+���+� 
(sources) 

�3#�#���

����'��0��

��0���"�
(sources) 

�3#�#���

�������%�����0��

��0���" 
(sources) 

 

�3#�#���

�$*"�����0��

��0���" 

(sources) 

epeating
equence  

�3#�#���*#���%����0��

��0���"�%�������,�(��$��

(sources)  

 

Terminator  

 
2����*�+ (�#�$������) 
(signal&systems) 

���"��+����� 
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��ML5�%���+��%"�Simulink��-�%�����������#+��Power System��*��&���#���%� �

$�%#�1���� �*#�#-�%��-�*��)#������#�#+������-��-#$�-�&���+�������� $�#�#$#�����

*���)�*���-� �-#$�� 7#�#��+� %# +�-� *�������-� ���+��� Power System� ��%���'� ���

���������� 

Ground (output)
 

Ground (input)
 T connector   connector  

<&#$�#�� �	������ �!�
 .-+��#+��� 
(connectors) 

L-+��#+��� 
(connectors) 

1

c
2

Breaker  

1

g

2

m

Ideal Switch  

eries RLC Branch  
arallel RLC Branch  

4�1� 
(elements) 

4�1� 
(power electronics) 

7����%����'�RLC 
���)10 

(elements) 
 

7����#����'�RLC 
���)10 

(elements) 

DC Voltage Source

 

AC Voltage Source

 

AC Current Source

 

i
+

-

Controlled
urrent Source  

�3#�#���*����'-
��,���*�"0� 

(electrical sources) 

�3#�#�� ���"���-
%�����, ��*�"0� 

(electrical sources) 

�3#�#������"���-
%�����0�����"$� 

(electrical sources) 
 

4#�"/$# %3#�#�� 
���"$" 

(electrical sources) 

V

+

-

Controlled
oltage Source  

+ i
-

Current
Measurement  

+
- v

Voltage
easurement  

 

4#�"/$# %3#�#�� 
��*�"0� 

(electrical sources) 

;$*#�$#�� 
(measurements) 

�����$#�� 
(measurements) 

 

���"��+����� 

?��+ “To Workspace�� &�"���� ��+�������"����� %� � (�+��)�,� �#&"���������

“Mux” –� %� � ���/%���� � +���+�-� ��-�%��-� �#������ "�$����)1��7��� ��+����������

���+��� �Parallel RLC Branch�� %� � "�-���)10��*��'$�/$������� %� � "#-���)10�� – 

����$��%� � �#-���)10�� –� "���$��*�����+�������������+��� �Series RLC Branch��%� �

RL-���)10��*��'$�/$������$��%� �"#-���)10��–������%� ��#-���)10��–�"����?��+��

�%!�&'�!�� �� ��(�&)� �*� �+�� ��+�������"1��� %� � &�$+�#�� � ��� ��&�$+�#�� �

#�#+������0�� +����� �-�%� ���� ��� ��-�%� ���� *��/%�"1��� � %�� #�#+������,� �-#$���
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7����+���� "$���� ��nitial state�� &��%�1��� ����� +�1��� 	���� –� ��&�$+�#��'�� ���� – 

&�$+�#��'
���� �&$��������"�+�1�������-�%�����	�%!�&'�!�
������g” (“Ideal Switch”) 

��#���*�%����+#�"1��'���0����Simulink��8��������������+���%!�&'�!��	&����#��'�"�

��0� %�� %3#�#��� ���"$"
� –� �#� �#+�$#�%������ ��+�������"����� "� *����%����$"�

&�’ &+"� &� %3#�#��$� ���"$�� ��� ��%"+�������1� 	�� )�-� ��*�%+�-� ��#��� &�!"��"�����

�-�%-��-�%� �#&������$� &� %"3#� �#��+�$� �*���$
��8����������� ���+�� ��(�&)� �*� �+��

	&����#��'� "� ��0� %�� &�!"�������0�� *����%����0�� RC-���)10�
� –� ��-�%� �,��

��+�������"1���%� ����#%#�� ����"$"�����*�"0��+�1���*�%�����$�%#�1���� ���+6��

)#��#*��������%����-�%"��,��*�%�/%�"1����#�$������� 

��&0� �#$��*��+��%� 

��#�#+������'��-#$����#�����&��-"-

����� *#�#-�%��� *��)#��� *��� &�$�+�����

+�1���	������&��'���i1(t), i2(t), i3(t), UC(t)). 

2��&�+���$��4��-0�(��$��#$����- 

r 1 r 2 r 3

J k
E C L

i1 i2 i3

Uc

 

��'��*����-#$��*���&�$+�#��$"�������+�1���$�/���0� %� 

cUriE −= 11 , (11.1) 

t

i
LriririE

d

d 3
332211 +++= , (11.2) 

21 d

d
i

t

U
Ci c =+ , (11.3) 

32 iJi k =+ . (11.4) 

2� +�-�	����
��	����
�–�%�(#�#�)�'������� �� ��	����
��	���-
�–����� �� �&�� &+"� 

��&��-"/$��*����+����"$����	�-#$��*�����&�$+�#��$"�������+�1��
� 

r 2 r 3

J k

C

L

i2 i3

Uc

 

�������$"��#3�$�� 0
d

d =
t

��&��%���� 

   0
d

d

d

d 3
332 =+++

t

i
Lrir

t

U
CU C

C , 

  3d

d
iJ

t

U
C k

C =+ . 
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.)0(

,)0(
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rJriU
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−=−=
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.�+�$�����$��$��#$������'��*����-#$��$�/���0� %�	%�(#�#�)�'������� �� �"�

���$�����'�(��$��4�!���*����+����"$���
� 

,)0( 3rJU kC −=  ( )

( ) ,/
d

d

,/
d

d

332211
3
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LriririE
t

i

Cii
t

UC

−−−=

−=
 

.)0(3 kJi =  

���� �� �&�� &+"� 

( )
.

,/
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k

C

Jii

rUEi

−=
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��(#�#�)�'������� �� ����*#�������'�(��$�� 
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( ) ./p

,/p

3322113
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LriririEi

CiiUC
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���"+�"�����-#$����+��%#���&������ �� $��	����
-	���-
�$�/���0� %� 

1

Lp
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r1

r2
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Jk
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U c
i11
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��%*���%����-#$�������+�-�Simulink: 

i3
i2

Uc

i1

Uc

To Workspace2

I

To Workspace1

time

s

1
s

1

r1

1/r1
1/C

r2

r3
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C-#$� � ���+�- Power System Simulink: 

+
i

-

i3

+

-

v

Voltage
Measurement

Uc

To Workspace2

t

To Workspace1

i

To WorkspaceR3R2

R1

L

i
+

-

Jk

-1

Gain

E

1

Jk

Constant

Clock

C

1

c
2

Breaker

 

�#+�$#�%�����'�$#��%���!#�� �%�(#�#�)�'��-����� ���ode15s. 

�����2��%���  

��&��-"�����*#�#-�%��'�*��)#�� "� �-#$�-���� ���"�+"� ����� 	*���$#���� �-#$�

��%����"������)�������
�%� �����-���*�%+��� 

• U=Um–�%3#�#���*����'��,���*�"0�� 

• U=Um���9t –�%3#�#������"���%�����,���*�"0�; 

• *#���%�������*�"0��	��0� %���0���"�������������
��T=0.1 c, T1=0.07 c. 

7��"%"�����0��(�+����*�"0�����+��%#��������������"$���"�0��+�-�#�#+������,�

�-#$��"�("�+)�,����"� 

 

��������������������� 

�����������������
����
���������
���������
 

 

��������������������� �����!"��������#����$��$#��%�$���#����'���

%�(#�#�)�'������� �� �&�*����+���$��"$���$�����,-�����#$�� 

�����.#��#��������%�$���� 

�� #�#+����#-��)�� ���*�-�%��-� ��%��#,�%��)�*����-� ��!#�� �%�(#�#�)�'��-�

���� ��� ��+�������"1��� *��� ��&��-"�+�-� *#�#-�%��-� *��)#���� �� #�#+������-�

�-#$�-���+6����)�-��-#$�-�*���"����#�#$#����&��#����'��$��-���+�#�����+�$������
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%�(#�#�)�'������� �� ���+�3����1����#����'��$����� �)�-���*�%+�����#����#����'�"�

-���+�#�����+"� �*��+��$��"����� ��� ���#�*��1����� ��� +�3��$"� +��)��

%�(#�#�)1���� ��8*���+#�"1��-���0������������� �� ��*��+��$�)�,�	���#�*�� )�,
�

��#�����&��!��"�������("�+)�,����� ���&�� &+"� 

��&0� �#$��*��+��%� 

R

L

i

U

 

�� #�#+������'� �-#$�� %�� RL-���)10�� *�%+�1-

��/��� � %3#�#��� *����'��,� ��*�"0�� U�� ��%"+���������

+��"!+����$�0�#�"���� �/�&$������#�������� +��&��%����

��������1�("�+)�/1� )( TT iΦ ������� 

var
d

d =Φ=
t

L                                                       (12.1) 

[ ]TnTTT iiii ...,,, 21= ; 

[ ]TnTTT ΦΦΦ=Φ ...,,, 21 . 

2�� ��� &�+���$� 4��-0�(�� ��*�"0�� ��

#�#+������'��-#$����&����/��� �&��(��$"��1� iT

�
7

 

t

i
LiRU

d

d+= . (12.2) 

7��� �*�%������+��	����
�"�	����
�����$�/$�� 

t
iR

t

i

i
iRU

d

d

d

d

d

d Φ+=Φ+= ,  

���� 

iRU
t

−=Φ
d

d
 –�%�(#�#�)�'�#����� �� �"����$�����'�(��$��4�!�� 

( )Φ= fi  –��#����'�#����� �� �&� &+"� 

( ) 00 =Φ  –�*����+����"$���� 

�� � ��%�$�,� ��������,� &��#3������ ( )TT if=Φ �$�3��� ��&��-"����� ( )iΦ  %� �

�"%�- +�0��&���#�� ���&��%�*�$�0�1��*��+��$�)�,�������#�*�� )�,��7����*��+��$�)�,�

+����-���$�0�#�"���� �&����'�����+�������"1�����"*��#���*�����$���-0�������-0��

*�� %+"�	����� &+�����#*����0�����$"�6��("�+)� � ( )iΦ �)#�����������$#������
� 
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�"�+)� ��  +�� $������� "� ����� �*��� �#����'��-� %�(#�#�)�'��-� ���� ��� ���

���� �� �&� &+"��$�3#�$��������"*��'���0� %�"���*�%+" 

�*��+��$�)�,� ���#�*�� )�,� 

function dy=frn_a(t,y) 

global R U A 

F=y(1); 

i=polyval(A,F); 

dy(1)=U-i*R; 

function dy=frn_i(t,y) 

global R U it Ft 

F=y(1); 

i=interp1(Ft,it,F); 

dy(1)=U-i*R; 

:�������*��0��$��$�3#�$��������"*��'���0� %�%� ���*�%+�� 

�*��+��$�)�,� ���#�*�� )�,� 

global R U A 

U=…     R=…     y0=…    tk=… 

it=[…]    Ft=[…] 

A=polyfit(it,Ft,5); 

[t,y]=ode23(‘frn_a’,[0 tk],y0); 

i=polyval(A,y); 

plot(t,y,t,i) 

global R U it Ft 

U=…     R=…     y0=…    tk=… 

it=[…]    Ft=[…] 

[t,y]=ode23(‘frn_i’,[0 tk],y0); 

i=interp1(Ft,it,y); 

plot(t,y,t,i) 

<��#�#%���6��Simulink ML�%� ����#�*�� )�,���+�������"1������+��Look-Up-

Table�� &� �������#)�� �Functions&Tables�� �������  +�'� &%�'��1/� +"�+���-����'�"�

�*��+��$�)�1� &��%���,� ��������,� ("�+)�,�� 7���$#���$�� )��0�� ���+�� /� �#+����

��0"$#����� ����#+���� &���#����<� &�� &+"� &�)�$� ��,.)��'-$�%#���$�3#�$��������"*�

��'���0� %� 

 

F

i

i

U

t

To W orkspace2

F

To W orkspace1

i

To W orkspaceLook-Up
Table1

Look-Up
Table

s

1

Integrator

R

Gain

Clock
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�����2��%���  

��&��-"�����*#�#-�%���*��)#���"��-#$�-���%���-��������������7���$#�����-#$�

"� �����)�� ������ -���+�#�����+�� �#����'��-� #�#$#����� L i R ��%���� "� ���������� 	"�

������������� -���+�#�����+�� �%#������ ���������/
�� 7��"%"����� 0��(�+�� ���"$��� "�

0��+�-�#�#+������,��-#$��"�("�+)�,����"� 

LU

R V D 1 V D 2

LU

R
V D 1

V D 2

65

LU

R

R

1

CU

R

3

LU R

2

C
U

R

4

7



9'

�
9'



kl

tEU m 125sin1.0)6,5 =

R /3R /2

 

���"��+����� 

.����) ����� 

U=Em,B �� 
���� 

��

�-� 
R��8$ �� 

���� 
��

�-� 
C��$+� �� 

���� 
���-� Ukl, 

� 
200 1 1 21 7 3 150 13 5 12 
220 2 1 23 8 3 170 14 5 18 
240 3 1 25 9 3 190 15 5 24 
250 4 2 22 10 4 100 16 6 16 
270 5 2 24 11 4 120 17 6 20 
300 6 2 26 12 4 140 18 6 22 

.����) ����� 

����� 0 0.181 0.33 0.451 0.551 0.632 0.699 0.753 0.798 0.835 0.865 

i��; 0 2 4 6 8 10 12 14 16 18 20 

U��� 0 66.4 118 158 190 214 233 248 259 268 275 

i��; 0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5 
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����������������������� 

���������.�;�������.�
���.;��;�:�?�;�	�
���������
 

 

��������������������� ���&�� &"����������)#%#����������0#������������ �� � 

�����.#��#��������%�$���� 

	��#����'���&�� &�+����� ��  

F(x)=0 (13.1) 

*�%�� /��� ����%���#��*�: ��%%��#�� �+��#�������"����#�� �,-�*����+���-������3#���

��#��)�'��$��$#��%�$�� 

��'����!���&*���1%3#��$��$#��%�$��"����#�� �+��#����/�$#��%�����#+)�'��

-��%��%������-����$#��%�*�����-���#��)�'� 

<�*�+#���ML ��!#�� ��#����'��-����� �����+��"/�("�+)� � 

x = fzero ( Fun, x0, Options, p1, p2…) 

Fun – ����+���� &$������ 	� �$� � m-(�'���� "�  +�$"� $������� � �*��� ("�+)�,�� ����

Matlab-����&�%� �,,���&��-"�+"
� 

x0 –�*�����&�#�&���#�� �+��#� ��$�3#��"����+�� �������#+������&$���$�	�0�
��<�

%�"0�$"���*�%+"���!#�� �!"+�/��� ����&��%���$"����#������ 

Options –��#+�����*)�'�� +��+#�"1���*��)#��$�������#�� ��������%"��#&"�������� 

p1, p2– ��+�������"1���� +6��("�+)� �$�/�����!��%��0����0"$#����F(x, p1, p2…); 

Options, p1, p2 … – �#����' &+����*���$#���� 

�� ���!#�� ���0#�������-����� �����*�+#���ML�/�("�+)� �roots. 

X = roots (P) –�������1/��#+����+��#����X�*�����$��&�+�#(�)�/���$��P. 

�������5#��%����#+)�' 

5#��%����#+)�'������$#��%�*��������0��%����� ���+��%�/��� �&�*����%����0��

*�%��#�� ���%��&+��� +�'�$�������+��#�������*��� 

x=(a+b)/2, 
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%#�����b –���������*�����$#3��+��#� �������� 

b>�, (13.2) 

F(a)*F(b)<0. (13.3) 

�� �+�3��0������"*��0��%��#�� ������/��� ����*����������%��&+"�����+��) -�

 +�,� ("�+)� � $�/� *�����#3��'� &��+�� 7��� )��$"� ���#����� ���"���� � +��#� �

&�"3"/��� �&����-"��+�&$�����%��/,�&�'�0��$#3:�����,�	���) ����*����,�	b��). 

��#��)�'��'�*��)#��&�+���"/��� �� +6����+��"/��� �"$���: 

ε≤− �� , (13.4) 

%#� ε -� &��%���� ��������� ������#�� � +��#� � 	 1<<ε 
�� ��+���� ��$�0�1���� 6���

�%����������+��"����� �"$���� 

ε≤���� . (13.5) 

5#��%� ���#+)�'� –� *�����'� ��� ��%�'��'� �*����� *�!"+"� +��#���� ���� �� �

F(x)=0�� ���� &��0�/��� � %� � �"%�- +�-� �#&*#�#����-� ("�+)�'� F(x),� "� ��$"� ������

�#%�(#�#�)1/$�-�� ���%+����� &��3������ �#�#��+��� 2���%�� %�� 0�#�� � ��������� ε 

�#��-�%������������ 








ε
−= ��

� ����  (13.6) 

��#��)�'�� �#� *�&����/�� 6�� &�%� � *��"�#�� � +�3��-� �� �����-� %#� �����-� &��+���

�#��-�%���&����������&�+�������#��)�'� 

�+6����� ��%��&+"� [a,b]� &��-�%���� � +���+�� +��#����� ���*��)#�� &��0�/��� �%��

�%��0��&���-��5#��%��#*��%����'�%� �*�!"+"�+�����-�+��#����*����0��*�� %+"� 

�������5#��%�-��% 

5#��%� -��%�� ���� $#��%� *��*��)�'��-� �������� $������� � "� *����%����$"�

*�%��#���� ��%��&+�� 1a,b2��  +�'� $�/� +��#���� ��� ��������� *��*��)�'��� &���#�� $�

("�+)�,����+��) -���%��&+"� 

��

��

��

��

−
−=

��

��
, (13.7) 

&��%+�� 
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����

����

����

������
�

−
−= . (13.8) 

:#�$#�������)#�#+�����#�����&�$����0��(�+��("�+)�,�F(x
�-��%�1�� +��*��'%#�

�#�#&����+��	a,F(a

����	b,F(b)). 

�� �&�+���#�� ���#��)�'��0��*��)#�"�&�$�����"$����	���-
���+�������"1���

"$��"� 

ε≤−+ LL �� � , (13.9) 

%#� xi+1, xi –� ��%*���%���� �������'� ������#��'� �� *�*#�#%��'� %�� ���0�� �����3#�� �

+��#� ��<��#!���)#'�$#��%�*�-�%�������$#��%����#+)�'����#�&��#&*#�"/�����!�!��%+"�

&��3������ 

�������5#��%�%������- 

5#��%� %������-�� ���� $#��%� ��1������ *�� 0�/� "� *����%����'� �*��+��$�)�,�

("�+)�,�F(x
�%������$��%��+����,�"����)��*�*#�#%���0�������3#�� � ( )��� LL ��� �� +��

*#�#����1��� ���� ���)��� "� ���)�� ����"*��0�� �����3#�� � ���1��6�� ��&����/��� � &��

(��$"��1� 

( )
( )L
L

LL
��

��
��

�
� −=+ . (13.10) 

7����%�������� 	�����
� &��0�/��� � %�� %�'���0�� &���#�� � +��#� � ���� �� �

F(x
���� +6���������#������3#�� �+��#� ��#3����"����#������1a,b] (F(a)*F(b
3�
�����

 +�$"�*�-�%��� ( )��� ���� ( )���� ����$�1���������'�&��+������+��"/��� �"$���� 

������� �� >⋅ ���� . (13.11) 

��#��)�,�*��*�� 1���*�����+�������"$���	���4
����	���
�	����
� 

5#��%���1�����#(#+�����'�� +6����%�$#�0���#�*����+��#������3#�� �%� �

+��#� �� ���*����&"� +��#� � 0��(�+�("�+)�,�$�/��#��+"�+�"��&�". <����0�*��/$��-�

��*�%+�-� ������ �����-� %#� �����-� &��+��� "� �#�0���$"� �����3#���� *�%��1/��� , 

����� *��)#��&��0�/��� �%"3#�!��%+�� 
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�#%���+�$�$#��%��%������-�/��#��-�%��������&��-��"�����"�+�3��'����)���#�

����+��&���#�� �("�+)�,,���#���&���#�� �*�-�%��-� 

�����-�5#��%�*�����-���#��)�' 

5#��%� *�����-� ��#��)�'� *�� 0�/� "� &�$���� ��-�%��0�� ���� �� � F(x)=0 

#+�����#����$�'�$"����� �� $� 

���� ϕ=  (13.12) 

���������1���� �*����%������� 

��� LL �� ϕ=+ , (13.13) 

(i=1��������
�� +��&��0�/��� �*��� ∞→� �%�������0����!#�� . 

��#��)�1�*��*�� 1���*�����+�������"$����	���4
� 

���������1�����#��-�%��1�"$���1�&��3������$#��%��/� 

���� <ϕ � . (13.14) 

���%+�����&��3������&�����/�&��&$#�!#�� $� ��� �ϕ . 

�����2��%���  

8���������*#�!�'�%�%����'�+��#��� �����)#%#����0������ �� � ��"���%�'����

+��#�����0#���,���0������ �� �&������)�������&��������1���
-3 , 10-5

�����
-7 . 

�����5#��%������#+�$#�%�)�, 

��������� �����3#�� � +��#���� �0� ��&������� ��&"������� *��"%"���!�� 0��(�+�

("�+)�,�F(x). 

7#�!�� ��3� ��+�������"����� $#��%�� %������-� ���� *�����-� ��#��)�'��

*#�#�������,-�&��3������ 

�� � +������1� *������������ ��!#��� ���#���� ��� #+���� *����%��������

�����3#���+��#�������&���#�� �("�+)�,�"�)�-����+�-� 

8)������!��%+�����&��0"���&��-�$#��%��� 
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������������ 

� 
	�
� 

F(x) ��
���
������ 

1 2 3 4 
1 

�����
�

���	 � =+⋅−




 π+⋅ ��  

4,2x3-31,92x2+74,3x-51,87 �������� 

2 ( ) ����
�� � =−+ ��  3,6x3-172,8x2+5,184x-237,32 ��
� 

3 ( ) 01sin3 =+− xx  5,8x3-47,56x2+121,2x-97,02 �������� 

4 ( ) ���

��	 =+− ��  6,1x3-90,28x2+388,2x-506,2 ��
� 
5 ( ) ( ) ��
��� =−+ ��  3,6x3-39,96x2+12,17x+426,4 �������� 
6 ( ) 01,058,0arctg25.0 2 =−++ xx  2.7x3-37,26x2+16,71x-202,7 ��
� 

7 ( ) �
�	

�
�� =

+
−

�

�  
1,3x3-5,98x2-1,09x+13,76 �
��
����
�
���� 

8 

( ) 0
05,1cos
1 2 =−

−
x

x
 

4,5x3-26,1x2+176,6x-112,4 �
��
����
�
���� 

9 ( ) ��
	

��	 =+− �
�  

5,1x3-62,22x2+142,7x+109,2 ��
����� 

10 ( ) �
�

��
�

=−
�

�  
1,6x3-3,04x2-29,18x+8,98 ��
����� 

11 ( ) ����������� =− ��  -2,3x3+0,23x2+17,05x+13,48 �������� 
12 ��		 � =−− −[[  1,6x3-14,24x2+38,13x-29,02 ��
� 

13 ( ) ��������
�� =+�  5,3x3-36,04x2+12,25x+28,05 ��
� 

14 ( ) �	����
� =−−+ �

[  -2,6x3+4,68x2+14,38x+3,822 �������� 

15 �	� � =−−−
�

[  -1,5x3-14,25x2-37,98x-22,03 ��
����� 
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�
���	������
����������� 

1 2 3 4 

16 ( ) ��	
��� =+��  3,4x3-46,58x2+127,3x-60,34 ��
����� 

17 �	 �� =− −[
�  2,8x3-25,76x2+6,18x+107,4 �������� 

18 ( ) ����� =− ��  -1,4x3-10,78x2-22,54x-11,85 ��
� 

19 ( ) �	��

�� =+− ��  3,1x3-62,6x2+414,7x-898,9 ��
� 

20 ( ) �		
� =−− [

�  1,6x3-12,48x2+25,04x-8,12 �������� 

21 ( ) ����	�� =− ��  5,4x3-54x2+140,6x-73,8 ��
����� 

22 �	�	 =−− ��
[  2,7x3-17,6x2-45,4x+123 �������� 

23 ( ) ����
�� � =−+ ��  -1,8x3-5,58x2+1,5x+119 �������� 

24 ( ) �����

��	 � =− ��  -2,5x3+8,25x2+61,9x-117 �
��
����
�
���� 

25 �	� =−+−
��

[  1,7x3-16,43x2+21,4x-12 �������� 

26 ��� =+− +[[

��  3,7x3-17,9x2-55,1x+105 ��
� 

27 ( ) ������� � =− ��  -3,1x3+9,55x2+71x-111 ��
����� 

28 ( ) ( ) ( ) ����	
���

�� =− ���  3,4x3-46,58x2+127,3x-60,34 ��
� 

29 ��� � =−−
���

[  5,3x3-36,04x2+12,25x+28,05 �������� 

30 ( ) ��
�� �� =− ��  4,2x3-31,92x2+74,3x-51,87 �
��
����
�
���� 
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����������������������� 

	
���
������
����������������������	���
�� 

 

����� �������� ��� ���!"� ��#��"#$����� !�!�%&�� �%����'��(� ����"��� ��%��)�'-

��&��&%��*�&�� 

������%��%�� �����*�&�!�� 

��!�%&���n �����"���#�n��%��*�&�&��&�+���,�"*� 

( )
( )

( )








=

=
=

��������

���

��������

��������

��

���

���

QQ

Q

Q

����

����

����

 (14.1) 

����$��%-�����&$���,�"*� 

F(X) = 0,  X =[x1, x2, …xn]. 

.�"���/%��"���-�(��%����'��(�!�!�%&���-���!���$0�����%��)�'���&%��*��� 

��1�-%���ML ��/%��"�!�!�%&��%����'��(�����"�����-��$+�2$�-)�"� 

X = fsolve ( Fun, X0, Options, p1, p2…) 

Fun – !���-���� #&����	� 3�� &�!����� �&'"� m-2�'��	� $� "-�&$� #�1�!���� !�!�%&��

�%����'��(�����"��
 

X0 – �%-������ �����(������4%���-��%���
 

Options – �%-�����1)�'	�"-��-%�$0���1��)%!�&��� �!�%��"��������*$��%#$�������
 

p1, p2,.. - ��-���!���$0��	�"-3��Fun(X, p1,p2...)�&�!�"�������/��*��,����,$&%���� 

Options, p1, p2 - �%����'"#-����1���&%���� 

[X, Fval] = fsolve (Fun, X0,...) - 1��%���+� -��&� -��%���� #�� %��"� 2$�-)�5� $�

�� -�(��. 

	�#,�"�%&��*%"-����%��)�'���&%��*����/%��"�!�!�%&�����'��(�����"��� 

��������%��*�#�� �'��(���%��)�' 

.�"�#�!��!$����"�)��,��&%��*����%���1� ��-��$�!�!�%&$�����"���1%�%��������

*����,�"*$ 
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 (14.2) 


-3����*�&��1� ��-���������4%��"�-��%���� 

���������
@�>@�>

�
@�>

�
@�>

Q���=�  (14.3) 

���*�"�5(�$�� �%��"���-���!���$0���2��&$�� 
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
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 (14.4) 

*%�k=1, 2, 3, ...- ��&%����%��)�5� 

��%��)�5�#�-�� $0���1���*�!",�%����$&���� 

����
@�>@> ε≤−= −N

L
N

L
L

��  (14.5) 

*%�ε  - 1��1$!��&��1�(��-���%#$�������� 

.�!������$&����#��4��!�����%��)�'��,��1��)%!$�&�0�����,�"*� 

∑
= ∂

∂ϕQ

M L

QM

�

���

�
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� ��������

���	�������∑
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�M M

@�>
Q

@�>
�

@�>
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�

�����������

∂
∂ϕ

<1. 

�����1���������-��$����!"�*�"�$!�(�#�� %���i (i=1, 2, ..., n). 

��������%��*��%'*%�" 

�%��*��%'*%�"���*��#�"+�!"���*�&%��*��#�� �'��(���%��)�'�����-��2��&$��&��

$�� �%��"�-��%���� 
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
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 (14.6) 

�� ����/�!��� ��1�*-��� ���� #��%#1% $+� ����/� !-��$� #��4��!��� ��%��)�'��,��

1��)%!$� 
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�����
��%��*���0���� 

�%��*���0�����+�1�(�*��&���*�&%��*$�*��� ��(�*�"��*��,������"��"� 

�%-���� 1����3%��� -��%���� ∆X ��� -�4��&$� -��)�� ��%��)�'��,�� 1��)%!$�

#�"!��$+��!"�/�"(�&���/%��"�!�!�%&��n�����'��(�����"���#�n��%��*�&�&�� 

W[k-1]*∆X=-F(X[k-1]), (14.7) 

*% 
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





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 (14.8) 

–�&����)"�
-���	�F(X) –��%-��������(� �!����1� ��-���5�!�!�%&������"���������� 

��� �%��"�-��%����#*�'!�00���#��2��&$��0� 

X[k]=X[k-1]+∆X. (14.9) 

��%��)�5� #��%�/$0���1��� #*�'!�%����$&���� ��������.�"�4��!�-�/�,��-�����-

�0���%�����#�&�#�$&���0��������1%�%���"���$&��$ 

ε≤�����������
@>@>

�
@>

�
N

Q
NN

L
L

���� . (14.10) 

��������*���" 

	�#��"#����!�!�%&$�����"���#��� �����&�������4%��"&��#������)������� 

���
��%��*� ����%-�&%�*�)�5 

�� �����������4%��"�-��%�����0�&�4�����#�� ������#$�����	�1��$*$���/��

,��2�-��2$�-)�5�F(x) $����&����&$�1��!����	����-���$��������5��$�����,������0��.�"�

)��,��$�1�-%������+�2$�-)�5�surf, mesh, contour. 

surf(X, Y, Z, C) –��$*$+����%-�����!1��/�$�1��%�(�0�#��%���&��*�"�#�� %���

&�!���� Z	� "-�'� ��#�� %�� ���  �!�%���!��� #�� %��� &�!����� X� �� Y�� 6�����  ��$�-��

��#�� �+��!"�&�!���&��. 

mesh(X, Y, Z, C) –��$*$+����%-�����!�� ��$�1��%�(�0�*�"� #�� %���&�!����Z, 
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"-�'� ��#�� %�� ���  �!�%���!��� #�� %��� &�!�����X� ��Y�� 6����� �$#���� ��#�� �+��!"�

&�!���&� ��� 
-3�� ��*!$���'� ��,$&%��� �	� ��� -����� $� )��&$� ��1�*-$� #&��0+��!"�

1��1��-)�'��� ��!���� 1��%�(��� �C=Z���
-3�� ��*!$���� ��,$&%����X� ���Y	� ���X=1:n, 

Y=1:m	�*%��m, n]=size(Z). 

contour(X, Y, Z, V) –� ��!$+� ����5� ����"� *�"� &�!���� *����(� Z	� ���(��$0 ��

*��1�#���#&����-���*�����X���Y�*�"�#��*���(�#�� %��	�"-��&�!�"��!"�$��%-�����V. 

7�#�� ���� $� 1� ��-���'� !�!�%&�� ����"��� #&����� �*��&� �&�"&� #� ��#��&��

i�*%-!�&���7%�%������	� ��#*�'!�00��!"�$&����#��4��!���1���#��*����(��� �����(�

�����4%��"(� 

7��� ��#��"#$������ !�!�%&�� �%����'��(� ����"��� &%��*�&� ��0����� ��%���

!-��!��� 2$�-)�5� *�"� ��#��($�-$� &����)�� 
-���	� ��#��"#$����"� !�!�%&�� ����'��(�

����"��	���#��"#$����"�!�!�%&���%����'��(�����"��� 

7��� ��#��"#$������ !�!�%&�� &%��*�&�� �%'*%�"� �� 1��!��(� ��%��)�'� ��%���

!-��!���2$�-)�0�*�"���#��($�-$� nϕϕ ...1 . 

�����)"����� 
������ ��!�%&������"�� �%��*���/%��" �� �������4%��" 

1 2x+tg(xy)=0 
(y2-7,5)2-15x=0 

7��!��(���%��)�' x0=3 
y0=0 

2 tg(x)-cos(1,5y)=0 
2y3-x2-4x-3=0 

�%'*%�" x0=0 
y0=1 

3 10x2+9y2-1=0 
sin(3,2x+0,3y)+3x=0 

��0���� x0=0 
y0=0,5 

4 cos(y)+2x=0 
0,24x+3,5y+x2y=0 

�%'*%�" x0=0 
y0=0 

5 sin(x+0,4)+3,5y-1,5=0 
cos(y+0,2)+0,5x=0 

7��!��(���%��)�' x0=-1,3 
y0=0,5 

6 sin(3,3x-0,4y)+4x=0 
8x2+25y2-1=0 

��0���� x0=0 
y0=0,5 

7 0,16x+2,1y+x2y=0 
cos(y)+x=0 

�%'*%�" x0=-1 
y0=0 

8 2,1y3-x2-4x-3=0 
tg(2x)-cos(2y)=0 

�%4 x0=0 
y0=1 

9 (y2-7,5)2-15x=0 
tg(xy)+2x=0 

7��!��(���%��)�' x0=3 
y0=0 

10 x2y+0,4x+5,3y=0 
4x+cos(y)=0 

�%'*%�" x0=0 
y0=0 
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7��*��4%��"������)������ 
������ ��!�%&������"�� �%��*���/%��" �� �������4%��" 

11 tg(xy)+6x=0 
-120x+(y2-29)2=0 

�%'*%�" x0=3 
y0=-0,5 

12 0,9x+cos(y+1,6)=0 
0,1-2y+sin(x+1,8)=0 

7��!��(���%��)�' x0=0,5 
y0=0,4 

13 cos(y+0,6)+0,6x=0 
sin(x+0,8)+2y-1=0 

�%4 x0=-0,8 
y0=0,5 

14 tg(4x)-cos(3y)=0 
2,3y3-x2-4x-3=0 

�%'*%�" x0=0 
y0=1 

15 2,2y3-x2-4x-3=0 
tg(3x)-cos(2,5y)=0 

7��!��(���%��)�' x0=0 
y0=1 

16 5x+tg(xy)=0 
(y2-1,5)2-7,5x=0 

��0���� x0=0,6 
y0=-2 

17 0,5y-0,5+sin(x+1,2)=0 
0,7x+cos(y+0,8)=0 

�%4 x0=-1 
y0=0 

18 sin(x+2,1)-3y+0,4=0 
cos(y+1,8)+1,2x=0 

7��!��(���%��)�' x0=0,4 
y0=0,5 

19 4,9y+0,32x+x2y=0 
cos(y)+3x=0 

�%4 x0=0 
y0=0 

20 (y2-5)2-20x=0 
tg(xy)+4x=0 

��0���� x0=0,3 
y0=-2,8 

21 sin(4x-0,5y)+5x=0 
7x2+30y2-1=0 

��0���� x0=0 
y0=0,5 

22 tg(6x)-cos(4y)=0 
2,5y3-x2-4x-3=0 

7��!��(���%��)�' x0=0 
y0=1 

23 6x+tg(xy)=0 
(y2-2)2-12x=0 

��0���� x0=0,5 
y0=-2 

24 sin(3,1x+0,2y)+2x=0 
12x2+5y2-1=0 

�%4 x0=0 
y0=0,5 

25 cos(y)+5x=0 
0,48x+6,7y+x2y=0 

�%'*%�" x0=0 
y0=0 

26 tg(5x)-cos(3,5y)=0 
2,4y3-x2-3-4x=0 

�%4 x0=0 
y0=1 

27 12x2+5y2-1=0 
sin(3x+0,1y)+x=0 

��0���� x0=0 
y0=0,5 

28 0,6x+7,5y+x2y=0 
cos(y)+6x=0 

7��!��(���%��)�' x0=0 
y0=0 

29 sin(x+1,6)-y=0 
cos(y+1,2)+0,8x=0 

�%4 x0=0,5 
y0=0,8 

30 4x2+35y2-1=0 
sin(4,2x-0,6y)+6x=0 

��0���� x0=0 
y0=0,5 
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����������������������� 

7
8�6���6��	�������������9�����:��6��;� 

���
<
����
�
�
=
��7�	�	��� 

 
����� �������� ��� ���!"� ��#�� ���� &�-!�&����%� ��� &���&����%� #�� %��"�

2$�-)�5����#�*���&$����%������ 

������%��%�� �����*�&�!�� 

7�/$-�%-!��%&$&���2$�-)�5��*��5�#&������&�+��%�����-��!�&�!��'�$�)�-���!��	�

��%� ��-�4� +� ��4����&� %�%&%���&� 1��)%!��� &���&�#�)�5� 2$�-)�'� -���-�(� #&����(�

���,�����&�����&���&�#�)�"��1�������/%������#��&������(�#�*� ��1��&�#�)�5� 

��*���'� ��4 %� &%��*� *�#���"+� #��'��� �� -$� %-!��%&$&�� 2$�-)�5� f���� ���

���%������ [a‚b]�� .�"� ��#�� %��"� 1�/$-�� ��*��#�-� [a‚b]� 1����%�� &���� �*���

&�-!�&$&�����&���&$&�*�!��*4$+&�5�2$�-)�5� 

������&� 1%�%��#�&� ��*��#-�� ��#���0��� *��%��"� '�,�� ��� *���  �!����� ��-�&�

 ���&	� 3�� ��*��/%��"� *��4���� �!��,�� ��*��#-�� *�� *��4���� ����/�5�  �!�����

*�����0+���*��/%��0�*��4��������/�5� �!�����*��&%��/�5� 

�%� ��4-�� *��%!��	� 3�� #�����'� 1%�%��#� ��*��#-�� [a‚b]� ��-��$0��� *���

!�&%��� �����#��/�������� -�� 





−τ+=
−τ−=

),(

),(

2

1

abax

abbx
 (15.1) 

*%� ��
�	
����
��

�


�
�� <≈−=τ . 

7�� �&$	� �� -�� x1� �� !��0�  %�,$� !����0+� #�����'�1%�%��#� ��*��#-$� [a‚x2], ��

�� -��x2 -���*��#-��[x1‚b]. 

��*1���*��� ��3%� ��-��*%��&$	� 1�/$-� &���&�����,�� #�� %��"� 2$�-)�5� ���

#�*���&$����%������[a‚b]�&�4%��$�����-�����'���!�$1��&�#�!���&� 

-���*��#�-�[a‚b]���#*��"+&���� -�&��x1����x2�#��1������&�#�����,��1%�%��#$
 

-��� �!�0+&��#�� %��"�&���&�#��$+&�5�2$�-)�5�f(x)����� -�(�x1����x2 ; 
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-�"-3��f(x1)>f(x2)�#&��0+&�����$�&%4$����%������a=x1	����-/%�- 1���$�b=x2 ; 

-�1�����0+&��1��)%!�!1� ��-$	�#��4�0 �	�3���*���#��� �-�#�����,��1%�%��#$��4%�

��*�&�
 

-� ��%��)�5�1��*��4$+&�*����,�� �!$	�*�-�� ���%������%�#�� %��!���[a‚b]��%�!���%�

&%�/�&���4�#�*����1�(��-��ε ; 

-� 1�!�"� #��%�/%��"� ��%��)�'� �� -$� &���&$&�� &�4��� $�� ����	� 1�*����� ��*��#�-�

[a‚b]����1����xmin=(a+b)/2. 

�����,� ��&�#�!���&�&�4���#��'���&�-!�&$&�2$�-)�5� 

.�"�#��(�*4%��"�&���&$&��2$�-)�5���1�-%���ML �!�$0���2$�-)�5�fmin, fmins.  

min=fmin(Fun, x1, x2, Options, p1, p2, …) – �� �!�0+�&���&$&�2$�-)�5�f(x�	�"-��

#�1�!����$�m–2�'���#��&’"&�Fun	����*��1�#����[x1, x2���:$�-)�"�f(x��&�4%��$����1�!����

��-�4�"-�!���-����#&����� 

Options –��%-�����1)�'	�"-��-%�$0���1��)%!�&��� �!�%��"��������*$��%#$��������

��%�����"#-���'�1���&%���� 

p1, p2, …-��-���!���$0��	� "-3�� 2$�-)�"� &�+� ����/� �*��,�� ��,$&%���� 

f(x, p1, p2, …). 

MIN=fmins(Fun, X0, Options, p1, p2, …) –�&���&$&�2$�-)�5�-���-�(�#&����(
 

MIN −��%-���	�"-�'���*1���*�+�-���*�����&�&���&$&���2$�-)�5�1����#$��� �-	�3��

��#�� �0��!"��%-����&�X0. 

��������*���" 

���'���&�-!�&����%� ����&���&����%� #�� %��"�2$�-)�5���� ���%������[a‚b]� #�

�� ��!�0�ε���7� ��-����*�����1���%*%����������)��������7��$*$�����,��2�-�2$�-)�5����

��*&������������&$��� -$�%-!��%&$&�� 

�����)"��5.1 

��
���� f(x) a b ε 

��,�"*�
%-!��%&$&� 

1 2 3 4 5 6 

1 �
 [ ����FRV� +  4 5 10-5 ����&$& 
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7��*��4%��"������)������ 

1 2 3 4 5 6 
2 ���
������������ −�  0 2 10-4 ��-!�&$& 

3 [�
� ���� � −+  -1 2 10-3 ����&$& 

4 �� 	�������������� � −−  1 2 10-5 ��-!�&$& 

5 �	��������
� �� +  -2 0 10-4 ����&$& 

6 [
� �� −  0 2 10-3 ��-!�&$& 

7 ���
������������� −�  -2 0 10-4 ����&$& 

8 ��VLQ������� [
�  0 1 10-5 ��-!�&$& 

9 
��� �


[

+  
-2 0 10-3 ����&$& 

10 �
 [ ����FRV� +  -1 1 10-3 ��-!�&$& 

11 ��
���������
 �� +−  0 2 10-3 ����&$& 

12 xe sin5
 π/4 3π/4 10-6 ��-!�&$& 

13 ���
��


−+ [[ 
  1 3 10-4 ����&$& 

14 �������� �� −  1 2 10-5 ��-!�&$& 

15 ��������VLQ� �
 [ ⋅  -1 0 10-4 ����&$& 

16 �
	���������� +− ��  0,1 2 10-3 ��-!�&$& 

17 �� ��������� −  0,1 0,18 10-6 ����&$& 

18 �� �������������	 −  -0,1 0,6 10-5 ��-!�&$& 

19 �� 	�������������� � −−  -1 1 10-4 ����&$& 

20 ( ) 41,028,05,0cos4,3 xx −−  -1 2 10-3 ��-!�&$& 

21 ( ) 2/3/ln)2cos( xxx −⋅  1,6 3 10-4 ����&$& 

22 ��������

 �� −+−  0,2 0,5 10-6 ��-!�&$& 

23 �
����������
����� � −+ ��  -5 0 10-3 ����&$& 

24 ( ) 4/)2cos(2/ln xxx −⋅  0,5 1,6 10-4 ��-!�&$& 

25 ��
���������� � −+ −��  0,1 1 10-5 ����&$& 
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7��*��4%��"������)������ 

 

1 2 3 4 5 6 
26 

��



������

+
+
�

�  
-2 0 10-3 ����&$& 

27 ������������� −+ ��  -1 1 10-5 ����&$& 

28 tg(x)+x -1,7 -1,55 10-5 ��-!�&$& 

29 ( )3/cos xx ⋅  0 5 10-4 ��-!�&$& 

30 ���VLQ� �
 [ +  -1,5 1 10-5 ��-!�&$& 
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